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If a simple pendulum with the mass of the bob as ‘M’ has a time period ‘T’ then in
the same pendulum another bob with mass 2M replaces the original bob. Now time
period is (it may be assumed that the string attached to the bob has no mass)

a. 2T b. TE c.T d. 3T e. Answer not known

M eaaB Peop Osmemi @m sefeuwgedsr (simple pendulum) oimevey Gpmyw T
oel 2 6ol LIS SiHFHienFede 2aFB@EHawiB TBBLLGMSTE DiHeaT Beop 2M
9% WTRHBSH. SBOUTH DIHST DIMeVACHIHID 6ITaIUTS EHHESGID? (26 M(G)6mTenL
SIS S BHlOBWBBHTS &([HHE0TLD)

a. 2T b. TE c.T SIEL e. el O flwalevenso

Silicon is one of the best-known semi conducting material. As its temperature more,
it becomes a better conductor. But the temperature at which the silicon permanently

damages is
a. 100°C b. 150°C c. 200°C
d. 250°C e. Answer not known

fedsarer, Fphs SPWiLLL  GOBELHHH6N60 QEIBTGD. BT GleulILbHlenev
SIFFMbmauled Dig FABhe SLSHHUTHBSH. DeiTe0 @ OeuliLblensouled &ledldbamer
BIHSTOTS CFwedpriLIg)

a. 100°C b. 150°C c. 200°C

d. 250°C e. el Oxflwalevemso

A rock containing the fluorescing calcite is illuminated by ultraviolet light. Then, the
colour of the rock seems to be
a. Violet b. Blue c. Green

d. Red e. Answer not known

afl 2 101D  STOMIFLMLE  OFHTWIL @  LTHB  LB2EIHT QeI umeD
alTalbaslILGSpa. IGUTH, uTenBulsr BBLTes CHTaIBIUS

a. o b. mSevid C. UFmF

d. deuliy e. allewL O flwalevemnso

Raman effect is scattering by
a. Pure Solids b. Pure Liquids c. Pure Gases
d. Impure Gases e. Answer not known
@IToeT alenee] 6lalaIMmE 66N FHHMmeD
a. gruwemwwirer FHLLGLTHLSaT60 Bl aldFdHned
b. amuewwrer Hraumseisd BawD @efFdHmeo
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C. SIUIMWITET UTU|HSHTE HBIPD e6lFFHmed
d. grueswwBp aurwdsened Heupn eefllFfsped
e. alemL Ozflwalsdensy

5. Onrear wheel drive cars, with the engine in front it is a common practice to weight
down the trunk in order to increase safety, when driving on
a. Icy roads b. Muddy roads c. Hill roads
d. Plane road e. Answer not known
WP&LSE BuIbHTD OsTewi el o657 Qubd sriseled uUTHSTUIIBSTS  Hewih
&ML GHMBLULG 6hd UGHHUled @l BousBeTs
a. UNBHL 1Y FTEN6EVH6NT b. GrBumiFaTameLBE C. LDEDEVFFTENGVHGIT
d. gFwsen FTenevme6i e. oL OHflwalevemsv

6. What are the facts related to defining GDP?

It is not for a specific period of time

It measures only goods and not services

It is a non monetary measure

(a) is correct (b) and (c) are wrong

(b) and (c) are correct (a) is wrong

(@), (b), (c) are wrong

(b) is correct (a) and (c) are wrong

. Answer not known

Owrss o empTl @ 2 Bussk (GDP) Gsmiiuren sfwmer sBevs /  sxbBpisener
Gaxitey Geuiweyb

915 @T GPUILL &Tev euemJwenBasE o MHHTardH 96060

9IF “OuTBLB6eT’ OFHTLTUTET T SeTaiCLWTGW. “CaFemeu” QHTLTLTHIH D606V
SIFH LD FITEH SienaiBmELD

(a) &M (b) wBEBID (c) Heuml

(b) wBEID (c) &1f (a) Heum

(@), (b), (c) sou

(b) &M (a) wBEID (c) Heusl

alenL  OFfwealedensv

O apTE 0o

pan o 0o

7. Consider the following statement
1. India introduced the family planning programme in 1950s
2. The family planning programme adopted Neo-Marxian approach to birth
control
3. End of National Emergency Ruled out compulsion in family planning
4. Planning and implementation was carried by central Government
Choose the correct answer
a. 2 and 3 only correct b.1 and 3 only correct
c. 2 and 4 only correct d. 1 and 4 only correct
e. Answer not known
SPHEMIL. SnBDIBM6T H(HSHLD
1. 19508b oemiBHeiled @haHul GBLL S GUTLG HLLHMS DS(WSILGSHH WS
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2. @by sLEUUTH SHlLwrarg UsHw — orTésdul  Diemi@wesuller  igliLienl
CFuwiul Lg)

3. Gxpdw OBHESY (PYaHEG aubSHaLaT Gbu SLGUUTH &L LTWUTSSLILL 61606060

4. FLOL60 wBLID OFwWeLBHHHe0 WHHW DFFTed GoBelsTeTemiLL L G

a. 2 wpmb 3 wi@Gw Ml b. 1 wBwbd 3 W G M

c. 2 wBmib 4 w G M d. 1 wBpd 4 w GO &l

d. alewL Gxflweaisdenev

8.  The following are the functions of Niti Aayog
Find out which is/are wrongly listed
L To foster cooperative federalism
II.  To give final approval to five year plans
II.  To implement schemes for rural development
IV.  To advice the State and Central Government on levying taxes
a.land II b. I, II and III c.lIand IV
d. Only IV e. Answer not known
pF Cwnsdsler Lenllaer &6 OeTBHSLILIL (heiTerment
BHe0 6151/ 6Tewer HAUBTH QBTBHBLILIL (BTN
L. L BBey Fnl LT Flenul 6U6TTHHe0
I mpgrawih S Lhsadd SOIH PULHOD i6iHsHe0
IlI. eoys aueNTFHbHTR FHI L BIBMET DIDOLIBHHIH60
IV. wsdHwu 1oppid 1oipley Opssehdd  aufl  au@e  OHTLIUTS  Sifle|em)

ULDIRIG 560
a.l wmmib II b. [, 1T wmmub III c. Il wpmp IV
d. IV w’ G e. alowL Gxfluwalevamen

9.  According to the evaluation report of Niti Ayog related to Minimum Support Price
(MSP), which of the following statement (s) is/are correct?
(@) MSP is declared before the sowing season.
(b) The idea behind MSP is to give guaranteed prices to the farmers and save
them from price fluctuations.
(c)  With globalization resulting in free trade in agricultural commodities, it is
not important to protect the farmers from the unwarranted fluctuations

in prices.
a. (a), (c) only b. (a), (b) only c. (b) only
d. (c) only e. Answer not known

pg  Cursdear  GoBhsULF HTe  almev (MSP)  QOsmifumer gl

SNlbmBUleT Lg SIPHTEID 6lhd Fnbml/ dbmiset Fflwmeig/ sflwmaene uED?

(@) “Gopbsuls FHre alme” almslilys &HTSHIHBE WaTBL SinflaldbslIL@LD.

(b) “Gopbauls oisre] elmev”  uldar  Gprdsb  eleusTulseEbrisE  alemev
2 HFHTaUTHD DeTlILG DGLD.

() 2 eusbwTssaNe gBULB6TT SEIEG SHOLWUBB THSHHS 6  alenernars
alougmuw  QuIT(hHeTsefer alemsvuled gBUGBL CHmeuwBB gmm  EOBEHBHIH6TE0
BAmha aleugTuilsemen STLILG (LPSHSIUILDEV6V.

a. (a), (¢) wL B b. (a), (b) wL @B c. (b) w @b

d. (©) w' @w e. allewL Oz flwalevemsv

3 | Page APPOLO STUDY CENTRE PH: D44-24333436, 42867545, 9840226187




[ApPe 10 |

CHEMMNAL

10.  Consider the following statement.

The objectives of fiscal policy are

1. Capital formation

2. Equitable distribution

3. Unemployment

4. Regional Balance
From these, which are correct statement?
a.2,3and 4 b.1,2and 4 c.1,3and 4
d.1,2and 3 e. Answer not known
LNeTeU(HLD SnB3enB  &H6u6dT
B Osmerensullen GnbTdasmideNTeal6.
l. cLpeLSHET 2 (HEUTHESBLD
2. FWOIDTET LFT6)
3. GeuemsveuruiiLieTento
4. DI LMY 6U6eNTES]
SeuBmIeT, elemeu FHwmer dmByl?
a. 2, 3 wmpid 4 b. 1, 2 wBpD 4 c.1, 3 ompud 4
d.1, 2 wBpw 3 e. alenL G fwaisvenev

11.  Water drop in space is spherical because in the absence/reduced effects of gravity
the forces governing the objects are all the same and therefore the drop.

a. Attains a shape having the least amount of surface area.

b. Attains a shape having the maximum amount of surface area

c. Attains a shape having the least volume

d. Attains a shape having the maximum volume

e. Answer not known

alewiGeuaiuled FTiL allengd Ge0eVTHSHHIML .. GHnBaUTs EHLUILISITeD, GLIT(hHeTHe 6
BTl Omaishd  alngdsEpld  FOWTE  SBHEIBH.  BOFHamed  alewiGeueiluiled
prHgelwumeaig  Osmemaugeud OupIFBH. Seieutny  Csmen  augeud  eIBLILIHEITED,
wiragief

a. Wes Gmpeuter GLBUILIL OFTEIIL aIaISHMEH JHRSBS

b. s oiFswmen GuoBUILIL OSTEIL IS GBSBS

C. adh GHMBEUTET LI(HLOAT BTl 6lQaIHMS GJBHMBHI.

d. s oiFswrer LHLET QHTENIL algaIHmd 6BE B

e. allewL g flwalstensv

12.  In the Haber’s process for the manufacture of ammonia

4| Page

a. Finely divided iron is used as a catalyst

b. Finely divided molybdenum is used as a catalyst

c. Finely divided nickel is used as a catalyst

d. No catalyst is required

e. Answer not known

Gamum OFwedwensulled, SbGTeiwT HwmildHedleo

a. Fpl SHSETHNMTESIULL @B alemerulsSluns LwaLbGSmE
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13.

14.

15.

16.

Fpl HIBETHEMMESIUL L oT6ILILNgeTD allemenusHns LweLIBGS B

Fpl HIBETHNMMTESLILLL HloHHe0 alleneanul,dbauns LwaLbH B

abd allewenuldHlujd BGhHemeuliLi(heude0eme0
e. alewL OFMwalsvenso

What are isotones?

Atoms have same number of protons but different number of neutrons

Atoms have same number of neutrons but different number of protons

Atoms have same number of protons and neutrons

Atoms of the same element with different masses

Answer not known

gg(%&rr@urmasm 6T60TLIGHT  WIT6m6U ?

a. @55 LGmLLmer eTewienlbendU|d WWIBILLL  BULL Jrer  6TewulenlbemBUlDd 2 enL Ul
OIEHBH6

b. @55 Puwlgrear aewienibmauid wImL’ L LGITL LT  eTenienihbmauld 2 6mLul
OB

C. @55 LUGITLLT& LoB®ILD HIULLJTeT 6T60I6mlbeNBUILD 2 DL U DI H6N

d. wrgum’ e Pepuemiw @8y HefdHHer Diamidhoei

e. alemL Ozflwalsensy

oo o

o a0 g

The common table salt is

a. Compound b. Element c. Mixture
d. Alloy e. Answer not known

Qurgl Gweng o LTSI

a. Gamowb b. sefob C. H6VEMA
d. o Geursdsevamel e. el Oxflwalevemsv

Specific experiments
1. Blue Litmus paper is dipped into hydrochloric acid and it is changed into Red
colour
2. Blue Litmus paper is dipped into oxalic acid and it is changed into Red colour
3. Blue Litmus paper is dipped into sulfuric acid and it is changed into Red

colour
General Law: Acid is turned into blue litmus red. It is called
Reasoning.
a. Deductive b. Critical c. Everyday
d. Inductive e. Answer not known

Fmliy CFTHemeab6lt

1. mev eJlerd HTewen emaml Gym &Genmfle DIHeVGHHL HMHHTEL, DiFHI FeulILms
LOTMILD

2. B6v eJLLD6rD SHTener %5&n6@a3 SIVVHH60 HEMASHIHTEL, DiGHl FleulIms LOTMID

3. BHeV QLG HTenel HHHS DINVHHED HEMDISHIHTL, DIl FeulILms OTBID

Curgl g Sibflevwmerd BHeo 6ILeD  SHTenen Floullumsd  LOTHBBID. &I

UIHBHBIHED 6160 DIeMLPHBLILIBLD

a. UGSHHM b. GompaETaEnID c. FHeanpbGHTmib

d. Qz1EH5M e. allewL O flwalevenso

Consider the following statement.
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The objective factors for determinants of consumption function are.

1. Motive of precaution

2. Motive of liquidity

3. Motive of avarice

4. Laissez-faire policy
a.3and 4 b.1,2and 3 c.1,2and 4
d.1and 4 e. Answer not known
LNeiTeU(HLD SnBenm  Heve.
BISTQ| FTTenL HTEWIHBEB DIBEUL DLAICHT BT 6001666
1. werCensgfldma GphTohasld
2. BTew Heaienld GBTaHHLd
3. Guymemg GCpTéHsLD
4. HemeoulLTs OHTeTensd
GuevaTamitd Fapmiseiey Fflwmarupeny Caie Ggulwed
a. 3 pmib 4 b. 1, 2 wBmw 3 c. 1, 2 wBpLd 4
d. 1 wBm 4 e. alenL Gxfwaisvenev

17. Which is not related to direct tax Revenues of the central government?

a. Taxes on Income

b. Taxes on property and capital transaction
c. Taxes on commodities and services

d. Taxes on dividends and profits

e. Answer not known

wHHW opder Crry eumeuTuilearssdHled CHTLITL @eveoTHdl 61g)7
a. euHLomeot el

b. Qardhg WOBBID cPeLHeT Guif]

C. L6 WBmID Lewll eurl

d. uRIsTHTW BB Beoru eufl

e. allewL G flualstensv

18.  The first blue print for Indian planning came from an engineer administrator

a. M. Visvesvaraya b. Nehru c. S.N. Agarwal

d. M.N. Roy e. Answer not known

@b HuImaest S L LOL_gVIhaTes QUGN LIL_RIS6IT (PHeVI6D 6 QurpSlwimerT
BiTeuraSuLLO(BHSH euHSH60

a. M. afleroGeuerdeuruim b. Grm c. S.N. &1sieuTen

d. M.N grui e. aflenL  QHflwalsvensv

19.  Which are the correct statement(s) related to “T-Billl” Treasury bill?

B | Page

(@) They are issued by RBL

(b) They are issued by Government of India.

(c) Treasury bills pay no interest.

(d) These are long term debt instruments.

a. (a) and (d) only b. (b) and (c) only c. (b), (c) and (d)

d. (b) and (d) only e. Answer not known

Spstanid  gmpupisefiey “T-Bill" (Treasury bill) Gsrifurer  sflwraeuBens  Gsitey
Cguiwe|b
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(@) o @bhFw MaTel eumdwmed GeueiuiL LiLibalemmser.

(b) omeu wWHHW SsTEL GeuefluiL LG asen.

(c) oluBder g eully L Suieorg

(d) ©oemeu CBEEHRIBTD SLGET LSHTHSET QLELD

a. (a) wmmpb (d) W@ b. (b) w@Bmid () W BHib

c. (b), © wpmb (d) d. (b) wpgn (d) w G

e. alonL G flwalsdensv

20. To reduce the investment and the Incremental capital output ratio the following
approaches are to be accomplished.
L. Static efficiency
I1. Allocative efficiency
III. Technical efficiency
a. [, II, IV only b. L, II, II only c. L II, IV only
d. II, I11, IV only e. Answer not known
Qb  WHH Bpd  SFHfleGh  weoger OeueluilG  aldleHmed  (GHMBEHS,
Ledeubld  oiemi@H(penmae HlewpCeupmmriue. Geuemi(BLd
[. Peweowimen OFwe0SMest
II. wrgb GFwedamesT
III. @z16856 CFwedHBmei
IV. Osmbleomi 1 QFuisdd et
a. L III, IV w’ @b b. L II, III w’ @w
c. L1, IV w G d. IL, IIT, IV 1o G
e. allewL G flualsensv

21.  The pollutant which cause impairment in plant metabolism is
a. Nitrous oxide b. Carbon di oxidec. sulphur di oxide
d. Carbon mono oxide e. Answer not known
STeuJ ueNTFlengd LTBBSHH L GHMBLILTL ML gBLBSHSHID LOTSH
a. empLIe LEHmTF(H b. anfuet e euEmFH C. FTUT-DL-YHmFH
d. &niuer Guorermaama® e. alemL OFfluialebensy

22.  The colour of the skin in ripened apple, tomato and grape fruits is due to
accumulation of

a. Carotenoid b. Lycopene c. Anthocyanin

d. Ethylene e. Answer not known

LSS Sliler, HEsmel wWBHID HIT emwguwlear CxHmeler HBSHHBEGHSH STFEwID
a. aCymiigemui b. eevs@amiieit C. 9LT8HTemT UlI6wT 6ot

d. ergaedein e. alewL O flwalevenso

23.  Single cell Eukaryotes are included in

a. Fungi b. Monera c. Protista

d. Archea e. Answer not known

BmBFOFsL uBaNCum (hdbaseT DeuBmiel 61860 SILMmIGHBSH?

a. yehoms b. Gumefym C. YGymiigeroLm
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d. giesdwre. alen. Ggflwalsbensy

24. Kidney stones are formed by the Precipitation of the following chemicals

I. Cystine II. Oxalate II. Uric acid IV. Sodium
a.land II b. I, II and III c. Il and IV

d. [ II, Il and IV e. Answer not known

obd Bramwet OUTHL 6T LIQauSHHT cpeold FMIBIS SBH6IT 2 (HeUTH BT

I. Herdresst II. oEemGeor III. whé eudeod IV. Ggmguib
a. [ wppid 11 b. I, IT wmmn 11T c. lIl oppio IV

d. L, IL III @b [Ve. alent.  Gsflwiaisvensv

25.  According to Darwin, speciation is effected by
a. small continuous heritable variation
b. small continuous non heritable variation
c. Sudden heritable variation
d. sudden discontinuous variation
e. Answer not known
LriTelel By SemiseT 61&Hear cpevld BHrmmieaidaL LB armet ?
a. dw QFHTLT Wy FMThHe TBILTG
b. AYlw G&TLT Iy SlevevTsH OTBILITH
C. Sleff gy &MHe LTBILTH
d. S GsTLTFAWMBB WTBILTH
e. alenL Gaflwaisvenev

26. Assertion (A) : Access to Primary Health centres helps identification,
care and Prevention of communicable disease in rural communities.
Reason (R) : More optimum utilization of rural health infrastructure is

expected to yield expected results.
a. Both (A) and (R) are true and (R) is the correct explanation of (A)
b. Both (A) and (R) are true but (R) is not the correct explanation of (A)
c. (A) is true but (R) is false
d. (A) is false but (R) is true

e. Answer not known
® BFLS FaBed (2_): &HPMD 0SS SSHTHT] MOWRISENET 6TaMNHTH  DIGWIGHLD
Gumg SIbLos HerenL Gl CaTBmI Gpruisemern

SI6ML_ITEITLD STEIRLD, H6V60T SHBHA|LD, SHbbBaLD
2_560|BIBSI.
SMJ6mID (&) : agmolyB  SSTHTY 2 6TsL Lol o HbheH LT

THTCHTHGSGID LI6LNETHSH(HLD.

a. (o), (am) @yewipd gf, BHHIL a1 (H1) a6k (2 )-alar gflwmear alendsd
b. (2), (a1 ByewiGd &f, BHHI e (&1 ewug (2) ol Filwrer ealendsbd
D606V
c. (20) gf semed (M) Houml
d. (20) seum semmed (sm) g
e. allewL G flwailsbenesv
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27.  What are the recent trends in the global economy which has led to RBI “sell buy’
swap of USD/INR?

a. Financial markets worldwide facing intense selling pressures due to the
spread of COVID-19 infections

b. Slump in International crude prices

c. Emerging market currencies experiencing upward pressure

a. (a) only b. (b) and (c) only c. (a) and (b) only

d. (c) only e. Answer not known

® o0& CUTHMHMISHe F5L Burd@seied eemeu @HFHw Mamen eumduler (RBI)

9OféEs  LreoT - @hHu  mutll  ‘elB@h-aumEgn’  ufoTBpsHms  CFwOLGSHS

SNJENILOTS  SIGNLOHBHICTENSHI?

a. Gamall-19 QUEHHLOSTBBTEL 2 susdenaled HFH FHensHeeT FhHHaH 6B iDL
Q@ TLTUTer Sl DIPSHIHLD

b. 2 ovs FhoHuled HFFT elewiCemIUl allenev gFiley

C. UeNThEl eUBLD FhendHaelenr Brewiwl HLIL CedCHTHaL DIPSHHHMS FhHEHLILIG

a.(a) w@w b. (b) @b () WG c. (a) wppid (b) w G

d. (c) wl@Gw e. alowL OFflwaisvenev

28. Identity the sector(s) of Indian Economy which are the most affected by Covid

Pandemic -
(@) MSME sector

(b)  Aviation sector

(c) Tourism and Hospitality sector

(d) Telecommunication sector

a. (a) and (d) only b. (a), (b) and (c) c. (d) only
d. (a), (c) only e. Answer not known

@bhHw  GurmemeHTIHHeL,  Camall  GuBHOSTBBTIL  Weed - Corsworse)d
UTSHSSULLL. HlenB(H6T) —
(@) dp wpb EEHSI Gsmfsdsst (MSME)
(b) elwren CUTSGMTSHSI
(c) &mmieor BB elkHGSTLLE QFHTLLTe QFHTL ST
)

(d) Oaremen QHTLILEG SiewB
a.(a) wmmid () Wl B b. (a), (b) wBEmIDd (C) c. (d) w' @w
d. (@), (¢) w Ew e. alewL Oxflwalevemsv

29.  Which of the following states has shown the declining trend in the (GST) Goods and
Service Tax for the year 2019-2020?
a. Uttar Pradesh, Rajasthan and Assam
b. Haryana, Rajasthan and Mehalaya
c. Andhra Pradesh, Mathya Pradesh and Manipur
d. Maharastra, West Bengal and Tamil Nadu

e. Answer not known

20192020 syewngest GFemeu LOBWID FTHG 6ufl u@edled GHBhHEH euHD BuTHE
STILILBLD  OTHIeVHIS6T WiTeney?

a.2 531 8sabd, gregerdsTe BB OIFTD
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b. amflwimert, gregervsmer WB®ID GodTeomuiT

c. 9y L8sad, wHHw LIFGsHabd oBmID Lo6wILILYT
d. wamryrag gr, GuwBE eukis WHBID SOWHTE

e. allewL g flwailstenesv

According to Nobel Laureate Abhijit Banerjee (Economist), what is the only solution
to overcome the economic pain in the short run in the wake of Covid-induced
economic crisis?
a. Putting more money in the hands of big corporates
b. Giving more tax cuts for big corporates
c. Putting more money in the hands of poor
d. Giving more tax cuts to the poor
e. Answer not known
Gpmued ufle OQuBp CuTmTHTT SSlehT SILIElsH GCuenTuiear FaB@itig, GCasTall
CUBHBOSTBBTEL  GUTHEMTHTY  OB(HESY  gBUL(BeTeng. BbFH  OBHSHSIQUITED
gBUL_(BeTenm QUTHEMTSHTY alelledll GHBISH U STV DIQUILIGNLUT60 HLLIUSHBHTET HTAUTSH
ST Fnpleudl Wrgl?
QU MHBleuahIGeNeT MmBH6eMeD DIFHH Liewid OHmewnt(h GFTLILIH
Qu@m BHoleuahIsEndG 6aufl Gemply OFuieug)
gl eefll &Haler mBHeried DIGHE Uemid Osmen(® Cariug
gl o6l &HEHHE auflGmBLiL GFuiag
alemL  O5flwalsensy

P o o

The major cause for the depletion of Ozone is
a. Aerosol b. Hydrogen Sulphide = c. Hydrogen Sulphate

d. Carbon di oxidee. Answer not known

@Camenen INSGD (PSSl Hewo

a. SN&LILL VLD b. ewami g6t Fe. .ewUB C. ewamL FEeT Fov..BL
d. srueienL. euEmF®d e el G fwaledenso

The word “Sustainable Development” is clearly indicative of the fact that
Natural assets are finite

Natural assets are infinite

Natural assets are not resources

Present model of Development promotes stability in nature
Answer not known

oo o

“Blemev PMISHHID SITalhHSH” eimild aumTHend SHlemeflwioms GpLiLg
BuBmed 0FTHSHISHET (LPIYeYBEHnIUISH]

BuBmsd 0FTHSHISHET (LPYEBTSHH

BuBmd OFTHSHIGHH6T GUGNRIGET 606V

SBGUTemHW auenTFS THF QuiBemns OHTHHETEMIDMU 2 G eSS B
alemL  OFflweledsnev

canop

The term biodiversity indicates
a. Species richness and genetic variation
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35.

36.
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b. Species richness and habitat diversity

c. Genetic variation and diverse ecosystems

d. Species richness alone

e. Answer not known

LeoUIMWID  ©jevevgd 2 uffiiiuerowid eaiB usD GG
AenFoFpemo BB wyueml Ceumun

DeFCF MO LOBMILD euTPAIL L1 LIGTLOWILD

wrueml CeumiuT(® LOBHILD LIGLEUEMNS  SHILDEVEDLOLIL|EH6TT
BeFOF(pemD O (HLD

alenL  OFflwealledenev

Tan o

A super computer that allows researchers to model energy technologies un artificial
intelligence is
a. Joule 2.0 b. Watt computer c. Zetta scaler

d. Fugaku e. Answer not known

wrHfl oBmed  CFHTIHEOHI LGHHmen SLITUIFHWTeNTHeT CFWMBeNd Hlewienipley CLPEVLD
AgaImIDHS GFUIuD Gobul L sHemnflef

a. ggvev 2.0 b. eur sewilel c. FLLm eroBaseuiT

d. ysnee e. alen O fluelsbensv

Which of the following (Book-Author) is wrongly matched?

a. Half Girl fiend - Chetan Bhagat

b. My country my life - Dalai Lama
c. Born again on the mountain- Arunimasinha

d. The country of first boys - Amartya Sen

e. Answer not known
SIPSBTEMILILIBLD L& SHBMmISH6IT LOBWILD DIFH6I SIS FHTeNTEH6ITED SHOUDBTH
CUTBISSLILL (HeTTerdl 617

a. QUBMTLIGITEV. .LIJ6wIL - Gozper LsG
b. aie1 Gxpad et GUTIDDHMB - HED6V GUITLDT
C. wene 5FH WemiB LIBHGH6N - Sihewllomerdaiaumm
d. waed eyemiileTenenseien Chaid - QIDTHW GlFes
e. alemL Ozfwaledensn
Find the value of k if
P+23+ ... + k3 =44100
a. 20 b. 21 c.22 d. 23 e. Answer not known
&1 LDGILIL| HITEWIS.
P+23+ ... + k3 =44100
a. 20 b. 21 c.22 d. 23 e. el OxfNwaledenso

If A =26 and B =264+ 263 + 262 + 20 Which of the following is true?
a. Bis larger than A by 1 b. A is larger than B by 1

c. A and B are equal d. B is 264 more than A

e. Answer not known
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A = 20 pppid B = 264 + 263 + 262 + 20 gignid  Qam(hébsLILL (BeiTengy  eleulled
LevTeu(heueaTauBnsled 615 2 6wrenio?

a.Bogeas A 5 ol 1 o8sbd b. A szl B & el 1 gdasid

c. A wpmpib B &b d.B g A & el 264 gifsid

e. alowL G flwalsdensv

38.  Find the missing number:

3,12,27,48, 75,108,

a. 147 b. 162 c. 183 d. 192 e. Answer not known
A(BLL L 6T6RTENGITIEH  HIT6IIh:

3,12,27,48,75, 108,

a. 147 b. 162 c. 183 d. 192 e. allenL Qg flwalsdensv

39. In the given number pattern find the next term.

E ﬂ 4321

33'444°'5555°

a. 7531 b. 1234 C. 4321 d. 54321 e. Answer not known
6666 5555 2222 66666

oIaiB DML DIBSHD 6CT6NIeN6EmWISH BHTEWIS5.

E ﬂ 4321

33'444'5555'

a 231 p 124 4kl g 5482l e Gafuwelsbamen
6666 5555 2222 66666

40. If ' HUMBLE" is given by the code EHLUBM. What does the code EDUCATION

mean?
a. NEDOIUTCA b. NEOIDUTCA
c. NEDUOITCA d. NEODIUTCA

e. Answer not known

HUMBLE easiuewns EHLUBM eienid @pluit Lmed syigssr EDUCATION  arenid
GBUWIb aspmeard GBHEGHL?

a. NEDOIUTCA b. NEOIDUTCA

c. NEDUOITCA d. NEODIUTCA

e. allewL G flwalstensv

41. Regarding the Indian economy, which of the following reflect, unprecedented
suspension of economic activity in the first quarter of this fiscal (April-June) due to
the COVID pandemic?

(@) Contraction of around 50.3% in the construction sector

(b) Contraction of around 39.3% in the manufacturing sector

(c) Contraction of around 10% in the agri, forestry and fishing sector
(d) Contraction of around 5% in the Trade, hotels, transport sector

a. (a) and (b) only b. (a) and (c) only

c. (b) and (c) only d. (b) and (d) only
e. Answer not known
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@hHw  QuUTHTHTHmS  uUTBISHS  euemy, GCamall  QUEBHOSTBBID  AbHSH
BHWTWIQT (LPpHe0 &HTeL LGSHuUled (gLUged - 32651 OQUTHEMTSHTT [HL6UIYSHeNBHEH6IT60
(pedr eTICUTHID BeveuTsH GUBLD (PLSHSLD GBLL L .
SPHTEID FmBBIH6Te0 eemal Bhsd o ewienenwl LIyHlLeddsdlament?
(@) oL @wreals ueisefsd &wrm 50.3% &iHHHD
(b) o musd smBuisd T 39.3% &HBSLD
(c) Geuenmemiento, euetallicd WBBID LWeTeuen o BLGHHUND &omT 10% &S(hbSLD
)

(d) afsssb, sEGL albd/ 2 aeausd LBEID CUTEGMISHB SiMBHefled &LDTT
5% &(HbBID.

a.(a) wmpid (b) wL G b. (a) wBmib (c) WL G

c. (b) wmmid () W GHb d. (b) wBmib (d) w G

e. allewL G flwailstenesv

42.  Choose the correct statement related to recent Bank mergers in India.
(a) Large Banks will be able to borrow more from the market and thereby help
the economy revive.
(b) Bank merger will lead to increased operational efficiency of the banking
sector
a. (a) only b. (b) only c. (@) and (b) d. neither (a) nor (b)
e. Answer not known
@bFHwraled FbU STevmIGaTNed HMLOUBID 6umd @evewilil] QHTLTUTET FnBBIH6r 60
sflwrerensd BGHiTey GFUILIA|LD.
(@) Ouflw eamaEseT FHhosuleddEHA  DHHWOTE &L TG  SHmei
OaTemiL eneuliTd EHBGLD 6leTLSHTe0 QUTHeMTHTILD LB 6L BHSLILBLD.
b) am&d Geewliy, aumdd sempuier CFuOHBENET 2 WITHSBILD.
(@) wL B b. (b) L (w c. (a) wmmb (b)

(
a.
c. (@) Bovemev (b) Bevensve. allewl  GOFHflwialevemsv

43.  With whom can we associated the following quotes?
- “Be Educated, Be organised and Be Agitated”
“I like the religion that teaches liberty, equality and fraternity”
“Life should be greater rather than long”
a. Dr. Babasaheb Ambedkar b. Thanthai Periyar
c. Karl Marx d. Mahatma Gandhi
e. Answer not known
BPHBTEID GTaUBL T - Dbhd CoBGaTeismen OBHTLTLLIGSHHOTD?
- “sealwple) QU SEDWLILITE @ETHI HFer, SHenibhesd”
- “wreir  el(HOLD BTG  SSHHBHTD, FwHHeID, FCHITHIHHIUD B UIAIBEHD
Gur @b
- “ambsemsd eaug o wflwstes meEs Couemihl Haly HemoTaiHTed SHi606v”

a. LrsLT. uturandl onbBugaib. FHhengd Guiflwim
C. &HMT6L LOMTEGM d. wasTHOT HMHS
e. alewL G flwaledensv
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44.  Arrange the chronological order.
1. Champaran Satya Graha
2. Kheda Satya Graha
3. Ahmadabad Struggle
4. Baisaki day
a.l-2-3-4 b.2-1-3-4 c.4-3-2-1
d.3-2-1-4 e. Answer not known
(Based on School Book Source)
SIPHEWIL BB BTeLaUflenFLILIBHSHSHIS.
1. gmbugmet gHHWT SFsd
2. GaLT FHHWUT Sysd
3. osgTurg Gumgm b
4. ewusnd [mHTen
a.l-2-3-4 b.2-1-3-4 c.4-3-2-1
d3-2-1-4 e. allenL  QFHflwalsvensv

45. Name the biographical work of Abdul Kalam Azad which was written during his
internment in 1916.
a. Tazkira b. Kadith c. Hayy Ibn Yaqdhan
c. Kitab al-Miraj e. Answer not known
1916 b oewiged  Fedpeaurgshder GuTdhl 6IWHSULLL  SIIHIED HEOTD  HLFTHEH6I
UTpHMmS FhengHullesr OLIUIT 6T6sTeor?
a. BT b. ards C. OB BUeT WibHTes
d. dsi geo-yTmge. ol OFflwaisvenso

46. Where was the venue of the 3rd Global conference on road safety in collboratin with
WHO and world Bank in 2020
a. Stockholm b. California c. Holland
d. Geneva e. Answer not known

2020uied 2 eva gsTeMy Hoeverd (WHO) wppmid o s eum& (World Bank)
BAemewibhgl FTewev UTHISTUL uBPBw 3eug FTauGhs SHSIHIMIG HOLOUBB S Lb

oI1?
a. eoLr&Gammb b. B=ed. .umirefwim c. Gammeonhgl
d. Ggefeur e. alenL GxMuwelsdened

47.  Agriculture Information Service Network (AGRISNET) was launched for providing
following information viz.,
I. Rainfall
II. Fertilizers position
IIT. Minimum Support price
IV. Sister departments of farm community
Select the appropriate combination
a.l, Il and III b.I,IIand IV c.], Il and IV
d. I, Il and IV e. Answer not known
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alougm Haeued Ggemeu euemeLWMIOLIL] SSTaID CHTGLILTD 2 66N HBHEUELSHEENT
SEE

. wenp GQumfey

II. 271 ®miy Heveuyd

III. @goBhaULF UHTT alenov

IV. ueswienent FelpsHH 6 SHienewl HieNBMSH6T LIMBAT
gflwren Gardbensenw GxTey GEFUIwIeLD.
a. [, IT wmmnp III b. L II wBmwn IV c. L III wmpip IV
d. I, TIT wppid IV e. afent. Qxflwalsdenso

48.  According sustainable Development Goal India Index 2019, brought out by NITI
Ayog for the year 2019, Tamil Nadu stands.

a. First b. Second c¢. Third d. Fourth e. Answer not known

2019 b oW B s Geuelull L @HIHwnalear BHeevssEHHHD eU6NTHFdbBTen
BedGH6T @MIui 1960, SOPHTH CUBBHBGSWL SL b

a. (PSH6eVTeUHI b. @yewi_meugi C. CLPEIIBITEUSI

d. mreisTeIg) e. alenL Gxfwaisvenev

49. Athikadavu - Avanashi scheme is relatedto
a. Drop irrigation b. Pour - irrigation
c. Drinking water and well Recharge
d. Drinking water and Ground water Recharge
e. Answer not known
DIHHBLe — SlETd FH LD eleiug SHDeu(HeleTaBBIeT 6IHIL 61 OHTLTLENL W7
a. Qam_ @ pT uTgearsh HLLb
b. Ggeflly BT UTEMISHSHL LD
C. GYHT LBEBID PHlewiBiseT Gapeyl Bb S LD
d. @upT wigh Pedsy BT Gefal G HLbd
e. alowL G flwalsdenev

50. Which is the first state to employ differently abled, in the Mahatma Gandhi
National Rural Employment Guarantee Scheme?
a. Kerala b. Tamilnadu c. Gujarat
d. Karnataka e. Answer not known
waTHoT  HMhHH BCxFw oags Geaumev o MFHH HLGHIH60, WLIBBIS Hperelsemen
LIGTWIDTSHSHW  (LPFHeVL LOTHI6VD 61817
a. Gsiyenm b. sWpBTH C. GHJYTH
d. &ipmr_am e. el Oxflwalevemev

51.  Who produced the greatest work Tarjuman-Qur’an [a translation of Qur’an from
Arabic to Urdu]?
a. Dr. Zakir Hussain b. Fakhruddin Ali Ahmad
¢. Maulana Abul Kalam Azad d. Mohammad Ali Jinnah
e. Answer not known
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STeeoeT  GHToper  [GTayeier 9l Gumiuledmbal 2 mEH Owmhdg Gaumn L
QumAQuwiTiy] eeB ssF FABhs LML 2 (HeuTdhdlueuT wimm?

a. Dr. mrait o _enga b. " .udbepSaET 60 SQBIDG

C. QLDGITEUTEIT SILIGL HEUTID YFTH d. apamibind 60 2J6TeITENN

e. alonL G flwalsdensv

52.  Which of the following statement is incorrect regarding Moulana Abul Kalam
Azad?

1. He was born in Calcutta

2. He was the editor of the Magazine called “Lisan ul Sidiq’

3. He published a journal namely ‘Al hilal’

4. He was elected the president of the Indian national congress in 1923 and

1940

a. 2,3 are correct 1, 4 are incorrect

b. 1,2, 3 are correct 4 only incorrect

c.1,2,3,4 are correct

d. 2, 3, 4 are correct 1 is incorrect

e. Answer not known

SDHNIL FnBBIH6Te0 OLDGTEVTEIT SILIGVHEVTLD SHLFTH UBBIL SHeummest FnBml 617
GILOGTELTENTT  DILIGLHEVTD DFTSH HEVSHHTaN60 LIBHSHTT.
BT ‘edgmar o 60 HHHH  eleip USHifldamauler LFLTHRWT Speumi.
BT Sle0BIeVTEL 6TIB AHemp Gleuernudll Ly
Aot @pyHw Cxdw sTmSFaLHEG 1923 wwBmID 1940 b emIHHeiTe0
SHemevaues GHThHoleHBELILILLTT.
a. 2, 3 sm@mmser gflwmereme 1, 4 Heummerenel
b. 1, 2, 3 smmen gflwmememal 4 aIH FmBBI HAUBTRIH
c. 1, 2, 3, 4 smBmIFe gFiWmerenel
d
e

NS

. 2, 3, 4 sappiset sflwneremer leugl BBl SHeuBTeIH
el G flwaledensv

53. Name the person who threw a bomb along with Bhagat Singh on the Central

assembly in Delhi?
a. Sukh Dev b. Rajguru c. Sohan Singh
d. Batukeshwar Dutt e. Answer not known

OLevellulled o 6ol WHHW FLLWAGBSHSH g LSSHFRGLET Semenihd 6oy e
afdlw pufler GQLUWIT eTesTeor?

a. &H8mel b. &rmr®em c. Gamamer Hmi
d. u’ BCsajeT H& e. el Oxflwalevemev

54. Rabindranath Tagore renounced his knighthood in protest against.
a. Home Rule League b. Khilafat Movement
c. Jallian Wala Bagh Massacre d. August Declaration
e. Answer not known
TeibEIBIS STenT a5bG Py csfalss sas ULLS®S SIPHST.
a. Gammb emed 655 b. deotug Buibsid
C. mmelwe euTeuTLITSG LIBGEHTEm6D d. eysedl gMidme
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e. alonL G flwalsdensv

55.  Which one of the statement is correct regarding the Subhas Chandra Bose?
1. Bose joined the freedom struggle under the leadership of C.R. Das.
2. 1921, he organised demonstration in Calcutta to protest against the visit of
Prince of Wales.
3. He boycotted the Simon Commission in 1927
4. He sorted on the Secretary and President of Bengal Congress.

a. 1, 2 are correct 3, 4 are incorrect

b.1, 2, 3, 4 are correct

c.1, 2, 3 are correct 4 only incorrect

d. 1, 3 are correct 2, 4 are incorrect

e. Answer not known

SPHIL. FaBmIBeTed Fumayd FhaHy Cumemerv umpd sFflwmer FwmmBI 61gI?

1. aurey gpdy Gumend, F.our. HTed Hmevenouled BbHw alBHenev CUTTTL L &aH60
BMEIHSBITIT.

2. 192160 Geusderd @eTUTFT BLBSHHTADHEG aUBHmE Ufhs Curs  adHiTsHgl
(PSSO LT

3. 192760 w6 HlOagenen @6UT LMo 6milsa T

4. aumister sSTRETeled OFWeOTNITHAD HMEVaUTTHALD LS 6USSHHTIT.

a. 1, 2 af 3, 4 seuBTaIg

b. 1, 2, 3, 4 sflwmen BBl

c. 1, 2, 3 sflwresn a&Bm 4 SHeumTer Byl

d. 1, 3 sflwren gBwW 2, 4 FHeupTer FmBHI

e. alenL Gaflwaisdenev

56. In January 2019, Indian Government approved the merger of three Banks. Which of
the following does not figure in merger?
a. Dena Bank b. Vijaya Bank c. Bank of Baroda
d. Lakshmi Vilas Bank e. Answer not known
mareufl 2019 60 (WWAIB RSB  QHRIHMSES  @HIHUI OIS OIS
QUPRISWIE. SDH6WIL 6lalaimd QbHFH @(HEISmenILILe0 G 1D OLBalevensn?
a. Gxpem aumid b. elmwn eukig)
c. uGymLm eumis) d. el eleomerd eumid
e. allewL g flwalstensv

57.  Which of the following facts about Covid-19 virus is/are wrong?
a. People who have been infected by the virus but do not have symptoms do not
spread virus
b. Reinfection is not possible
c. Anosmia (loss of smell) is a symptom
d. Babies do not get infected by Corona virus
a. (a) and (b) only b. (a) (b) and (d) c. (c) only
d. (d) only e. Answer not known
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Gamall - 19 eveugerd OHTLIUTEN SDEETEMID  FnBBIG6TI0 Heupmer dm@enys /[
FnpuIsmen GaiTey GFuiuleD

a. emeugerd OHMMBWI gBULIHUITID, DISGHBIH6T Ee0eOTHATHEMTEL CHTHB® LITeUTSH
b. amwop OHTH gBULL BUGSES WaiBL CBTHHI gHuULTS

C. ‘WahGH 2 emihld SHeimo Qi - BHCSTHBMHE SBSBIWTESLD

d. Gub®ssEsE BHOSTHH LTS

a.(a) wpp (b) G0 b. (a) (b) wBwpbd (d) c. (c) L @w

d. (d) wi@w e. alenL Gzflueaisdensv

58.  Which of the following statements is/are true related to COVID-19?
a. Adding pepper to your soup prevents COVID-19
b. COVID -19 is transmitted through houseflies
c. 5G communication networks spread COVID-19
d. Sun light does not protect oneself from COVID-19

a. (a) and (b) only b. (c) and (d) only c. (c) only

d. (d) only e. Answer not known

Gamaill -19 QFHTLTUTeT BpHETanID FmBuiBeiey Fiwme gmpens / gnpmisamen GsiTey
O&uIweb

a. BID UGSWL Sehdulled (GL) wWen@ CaTlusted @HEHTUI QHTHenB HHHHEVTLD
b. afiliged 2 6iem FHB6T cPeUIOTH BHOHTHBHBI LiTaD

c. 5G OxTMHOSHTLTL auemeoulledt cpeoorsd Gsmall 19 LFeyd

d. &flu gl @memy Gamall -1960 B [HbSHI LITHIBTHETH

a. (a) wppw (b) w @D b. (c) wBpd (d) w @G

c. (c) L {Bw d. (d) wi@w

e. alenL Ofluialeenso

59.  What are the facts related to Hand Sanitizers?
a. Most of them are acid based and not alcohol based
b. They are flammable
c. They are effective against spores
d. It is correct to nicely wipe off hand sanitizer from the hands before it has

dried
a. (a) and (c) only b. (b) only c. (d) only
d. (c) only e. Answer not known

»a ssFafiuner (Hand Sanitizer) Gsriiumer o emienosmens GsiTe| GQFuiweab.
(@) OQuepbuTeTeemea Sy  SiQliLlenL.  FTTHDHEME,  SLEOHABTEL  DQLILIEHL
FMTHSHMEU  BH|6V6V

(b) siemeu BIBIS eflSInigUIEn

(c) simen FpevalensaEndE@ aHITan CFLNTHHIID CHTEHTL M6

(d) emaseied o sien “massHeflumar o B (PHIBL BT  HEIBTE
mBHMe0(HHAHI L LILG FAlLTTOSTH CFwd SLESLD.

a. (a) wspib (b) wL@Gw b. (b) wL B c. (d) w @

d. (c) w’ @G e. allenL Gz flweaisdensv

60. What are symptoms of COVID-19?
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a. Fever, dry cough, fatigue b. Loss of taste
c. Sore throat d. Breathing difficulties
a. (a) only b. (b) only c. (d) only

d. (a), (b), (c) and (d) e. Answer not known

sparanid SBieHisaiss Casrall - 19 GFHTLTUTETMme 6Teneu?
(@) sTuIFFe, uBLB @Hev, BFmiTey

(b) semeu oPlub HpesT Beveuriosd GuTeu

(c) QzmewienL 66l

(d) ewpss albBeugled HAgiob

a. (a) wl@w b. (b) wl G c. (d) w@w
d. (a), (b), (c) wmpb (d) e. el OFflwaieveney

61. Regarding the Poona Sarvajanik Sabha consider the statements.

1. Mahadev Govind Ranade was the brain of the organisation.

2. The Sabha awakened the people of their political rights.

3. It protested against the vernacular press Act of 1878.

4. It published ‘Amrita Bazar Patrika’.

Which of the statements given above is/are correct?

a.1land 2 only b. 2 and 3 only

c.1,2and 3 d.1 and 3 only

e. Answer not known

yerm gFieuTtemeld Fevull uBps &mpHIHeo CEmeis.

1. warBxe Garalbs FramiGL @eualubsHHeT LPMETLTEHE GFUIGOLIL L.
2. ®@55mu Wwéselar odflued o Menwsaments LB elfililewTens gBLGSHS WS
3. 187810 ouewih USHHNHMBEF FULHMSD GTHTHBHI.

4. @eaielwssd ‘oubfgd vt usbfler’ b LSsHfdmasamut Geueui L gl
GG GMILLILL euTdalwsgled sflwmearemer sleneu?

a. 1 wmmd 2 1w’ Gib b. 2 wBmib 3 W G

c. 1, 2 wBmib 3 d. 1 wBmb 3 W G

e. alowL G flwalsdenev

62.  Which one of the statement is incorrect regarding Gokhale?

19 | Page

1. He started “Servants of Indian Society” in 1905

2. He went in to South Africa and helped Gandhi in his movement against
Colour bar.

3. Gandhi accepted Gokhale as ‘Political guru’

4. Gandhi described Gokhale as diamond of India, the Jewel of Maharastra and
Prince of Workers.

a.1, 2,3, 4 are correct

b.1, 2, 3 are correct only 4 is incorrect

c. 1,3, 4 are correct only 2 is incorrect

d. 1, 2 are correct 3, 4 are incorrect

e. Answer not known

SpHemiL gappiseiey CaraBGsuenwl LMK Heummer Byl 617

1. CamaBev “@haHuw UemiwTenT HPHID” 6B Siewlientl 190560 gmLIBHH 6T
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2. ®ait Oxer splfssralBg OCFam FBCaPamu aHTHH STHAULGT Eenemibai
LI6oofl L33 6aTITT.

aMhd CaraBsuemut Heigl ‘DIFFuled GHeUTS gBmIS OSHTeuuTLTT.

aMhd CaraBevenw GhaHlwmaler emeugd, LSITaQITal6ET Hmd, CFHTIHeoTerTaseMen
B6TTOUTF 6T 616N 61T 60T &5 ITMBITIT.

a. 1, 2, 3, 4 sppiseT Fflwmerene

b. 1, 2, 3 gBmEer gflwmeaener 4 gl BBl HeUBTEISH

C

d

NS

. 1, 3, 4 sappiset sflwrerene 26ug BBl SHeUBTEIH
.1, 2 aBoiser Filwmeienel 3, 4 aUFhl FaBBIS6T SHeUBTEIH
.allewl g flwailsenev

63. In 1944 at which district conference, ‘Justice Party’ was converted into ‘Dravidar
Kazhakam’?

a. Salem b. Namakal c. Dharmapuri

d. Trichy e. Answer not known

1944860 HewL OLIMBM® LOTBHTLIgE0 BHHSL S, SHITalLT SPHLOTE TsluIg
a. Gzoeud b. BTossH60 c. iy

d. Fmsd e. alemL OFfluielebensv

64. The Samarasa Suddha Sanmarga Sangam was founded by

a. Dr. Muthulakshmi Reddy b. T.M. Nair c. Thanthai Adigal

d. Ramalinga Adigal e. Answer not known

FIOIF &HFH FRIOTTHS FRSHMS 2 (HEUTHEIUIGUT

a. Dr. wpéa10eo a1l Gy ig b. 1g.enb.prui C. Fpmg Quilwim
d. @ymosimis Sigser e. allewL Oxflwaievenso

65. During 1920s in Tamil Nadu the subordinate castes were generally prohibited from
a. Using umbrella b. Wearing shoes
c. Wearing golden ornaments d. Wearing turban

a. (a), (b) (c) b. (b), (c), (d) c. (), (d), (a)

d. (d), (a), (b) e. Answer not known

1820&61M60 SLODBHTL 1960 STPSHSLILIL L grHulesImHbE CuTHIUTS SHOL&F
et L eney

a. GemLLUWeTUn® b. &mevemi Siemileugi

C. HEIB bHMS DiewieUd d. Lituer oemileug

a @ ®© b)) c. (¢), (d), (a)

d. (d), (a), (b) e. allenL Gz flweaisbensv

66. Kalpana Chawala Award for Courage and Daring enterprise in 2020 was awarded
to
a. Tmt. Senthamil Selvi
b. Tmt. Muthammal
c. Tmt. Ananthavalli
d. Tmt. Senthamil Selvi, Tmt. Muthammal, Tmt. Ananthavalli
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e. Answer not known
oy
Sl bHLILL L G|

CFwesbsTer 20208910 LEWIQET  SHEVLIGHT

gmejeor  al(hgl

a. FHmwa. CFhap OFeval

b. Smwod. (W&Hsbiomeit
C. HHWIH. SLeIbHBHe6T6N

d. Amws. FhsOD QFeval, HHLE. (PSHSHIDTET, H(HIDS. SLeTbHHeI6Ter

e. alemL Ozflwalsdensy

67. Match the sport with the corresponding number of players:
Sport No. of Players
A. Polo 1.15
B. Rugby football 2.11
C. Hockey 3.9
D. Base Ball 4.4
A B C D
a. 1 3 4 2
b. 4 1 2 3
C. 3 1 4 2
d 1 4 2 3
e. Answer not known
STILLGL alenemuTl el DISBE CHeneuwiner aiiTseler erewiami 61 OLIT(HHHISH
allewermuim B eiTT&eT eTewr
A. GurGsor {23
B. p&11 smeouba 2. 11
C. amrsa 3.9
D. Guerbuimed 4. 4
A B C D
a. 1 3 4 2
b. 4 1 2 3
C. 3 1 4 2
d 1 4 2 3
e. alemL  OFflweledenev
68.  Match the following women personalities with their achievement

Personality (Name)

A. Anna Rajaram Malhotra

B. Sarla Takral
C. Arunuma Sinha

D. Surekha Yadav

Achievement
1. India’s first female to fly an aircraft
2. India’s first female train driver
3. India’s first woman IAS officer after
Independence
4. First Indian woman amputee to scale
Everest

=N g
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69.

70.

C. 3 1 4
d. 3 4 2

e. Answer not known

BIpH BTt LB  GlLiewT
CUT(HSHSHIS
FTSHENeTUITET(GILILIT)

A. e Jregmymd 1060GABTSHIT

B. aieor séymev
C. simplor Heranm

D. a@yasm wingeil

A B C
a 1 3 4
b. 3 1 2
C. 3 1 4
d. 3 4 2
e. allewL G flwailsvenev

||||||||

FTHMDNLITONTHMET  DlaUTHelT — FTHemOIWL 6T FHWTH
FTH6N60T

1. @pHumeler (PpgHed Olewr ailomes

2. @pHwmeler (pHeo Ouewr guisd gl BHT

3. sobdly Qbdlureler (pHed e e
LS i

4. etougerol. HETHNSH DML [HSD, HT6L

SHIWNQSBLILL L (1pH60 @bl GlLiewsT

RN DNJ

Match the Tourist spots of India with their States

A. Hampi
B. Horsley Hills
C. Hogenakkal

1. Andhrapradesh
2. Uttarakhand
3. Karnataka

D. Haridwar 4. Tamil Nadu
A B C D
a. 3 1 4 2
b. 1 2 3 4
C. 2 4 1 3
d. 4 3 2 1
e. Answer not known
@bhFHwmaler SBBIeVTHHEVHISMET DIH6T LOTHeVmIEEMTH OLIT(HHHIH
A. amibli 1. oubdHriniyGsaib
B. amrirerd@ev & siImIdbei 2. © SHAHTHTEWIL
C. gBzarssed 3. SIBILSBID
D. amfiggieumt 4. FODHTH
A B C D
a. 3 1 4 2
b. 1 2 3 4
C. 2 4 1 3
d. 4 3 2 1
e. alemL  O5fwale0ensy

The source of dendrothermal energy is

a. Biomass
d. Natural gas

22 | Page

b. Coal
e. Answer not known

c. Pyrolysis
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71.

72.

73.

||||||||

wroeui symmeder (dendrothermal energy) eysmyb eiaiLg

a. o ultsayer b. Blevéas c. Qauindense)
d. Subens eumuy e. oL OHflwalevamev
Match the following
Author Book
A. Vannadasan 1. Sancharam
B. Ingulab 2. Sool
C. Ramakrishnan 3. Kaandal Naatkal

D. Cho. Dharman 4. Oru Siru Isai
A B C D

a. 1 2 3 4

b. 3 2 4 1

c. 4 3 1 2

d. 2 3 4 1

e. Answer not known

CUT(HSHHIS

opfflwir ueLly / ybssid

A. 666N HTF 6 1. FEhamyib

B. ®ai@eurtl 2. Gyo0

C. pmodmajemwret 3. &MbHG6T [HIL &6l

D. smoer. Gam 4. @b FBp Bma
A B C D

a. 1 2 3 4

b. 3 2 4 1

C. 4 3 1 A

d. 2 3 4 |

e. alenL  OFflwealledenev

Who first brought Christian faith into South India?

a. Martin Luther b. Ignatius Loyola c. St. Francis Xavier

d. St. Thomas e. Answer not known

WPSHET(LPGHeVeL HBidhaian BLISmBMW CHaraibIWmalBg OsmewiTha HeuT wmT?
a. OMmQesT GUITSHIT b. &&Geardluterd e0GuimevT

c. yalls pneidled Ggaflwim d. yels Hroewd

e. alewL G flwaledensv

“The one who gave false judgement (Ethilalan), was deeply hurt by himself as a
woman who pulled out one of her breasts to burn the city”

23 | Page

These lines which seem to indicate the story Kannagi is found in which of the
following Sangam Literature texts?

a. Kurunthogai b. Nattrinai c. Puranaanuru

d. Akanaanuru e. Answer not known

‘G BHGUTENG HEUMED HAUBM

M Yo SBHS HLOT 2 awend’ —
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semtemislullelr auyeomBenms GUILLE Gumev STewIlILGL SeleuflseT GLLDOLUBB FHis

OV F: A0HTI
a. GUIHFHTNS b. mBsenewt C. UBBTamml
d. ssmpTENm e. oL OHflwalevamsv

74.  Among the following whom can be considered as “an intellectual who anticipated
Dr. B.R. Ambedkar by two generations”?
a. Iyodhee Thass Pandidhar b. Raja Ram Mohan Roy
c. Ishwar Chandra Vidyasagar d. Jyothi Rao Phule
e. Answer not known
SparewiualTseiso wnm “LrslT B.R.owCusbsseamy BIewih SHemeu(pedBHehd@ (LpesTBL
aHTCHTHH W DINFTT NHT 6l HBHLILBSIMTT?
a. IBWTHE HTerd LGWIYHT b. ®yregmymb Gomedt Ul
C. meroeuy FhHAT lHWTFTHIT d. Gyrdymen 1Gev
e. alemL GFfwealedenev

75. Thanthai Periyar passed resolutions for the welfare of the women in the
Suyamariyathai conference of
a. Madras b. Coimbatore c. Salem
d. Changlepet  e. Answer not known
ghemd  QuflwnT  swwflwrens  OIHTLIQEd  OUITHlST  HELISHTEH — HL L HISH6NT
SuiBpriucL. L1
a. Gt gmerd b. Gasmuwibygamit c. Gzeuld
d. QsmseOLL (B e. allewL O flwaievenso

76.  What is the probability of getting and even number when a die is thrown?

a. % b. % ¢ L d. % e. Answer not known
QH UsmLMW 2 (HLBWOELTWE @f I eLLumL 61w ML LIUSBHTON HIOSHH6]
wmg?
1 2 1 5 )
a. A b. 3 c. 3 d. ge. ool OFflwailevemnso

77. The present ages of Arun and Suresh are 24 years and 36 years respectively.
What was the ratio between the ages of Suresh and Arun, 8 years ago?

a.4:7 b.6:5 c.7:4

d.3:2 e. Answer not known

olmewt  oppd &6rad sSBCUTMSHW euwGHeT (WPeopGul 24 UHLMISET LOBBID 36
QUHLMIBET 6lelled 8 SLeWIhBEDHHE (e &HEIad BE@ID SimHewT auwGHiSeler aldlsd
eTeiTeuTeUTS  B(HH(HBESHLD?

a.4:7 b.6:5 c.7:4d.3:2 e. el OxfNwaledenso

78. A and B together can do a piece of work in 16 days and A alone can do it in 48
days. How long will B alone take to complete the work?
a. 18 days b. 24 days c. 28 days
d. 30 days e. Answer not known
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79.

80.

81.

82.

83.

A oBpid B s @meumd Devenihal @b Geaumevenut 16 mIUsefled (pgrir. A
B  obs Gouemevenw: 48 BT LHefed (wLLMT. iy, B salCw  orbhal
Bouemevemll 6186m6d [HTL 6160  (LPIQLILITT?

a. 18 m e b. 24 m et c. 28 Bl et

d. 30 ®rser e. allenL  QFHflwalsdensv

210 men working 12 hours a day can finish a job in 18 days. How many men are
required to finish the job in 20 days working 14 hours a day?
a. 156 men b. 162 men c. 168 men

d. 172 men e. Answer not known

210 sewiset BTOeMTeBISE 12 el Gryb Geouemsv OFUILH @h Gousmevenws 18
BTL&6Med (liur. 918% Geuemsvenwt HTOMTEIBISEG 14 wewl GBIL Geuemev GCFUISH
20 BIL&6M60 (IPI9dHd THHMET SLewideT BHemeu?

a. 156 eyewibmser b. 162 syemiser c. 168 oyemiHamel

d. 172 syewiseit e. alenL Gxfwaisvenev

If 5 persons complete 5 projects in 5 days then 50 persons complete 50 projects in
days.
a. 5 days b. 10 days c.50 days d. 55 days

e. Answer not known
5 muteer 5 Geuemevenwl 5 HIL G660 OFulgl  (WlUT.  eefled, 50 mHUTH6T 50

Bouemevamemert BT &6Med CFUIH (PIQLILIT.
a. b5 el b. 10 m et c. 50 B et
d. 55 mrser e. aflenL  QHiflwalsdensv

Which of the following is the consequence of climate change related warming
rivers?

a. Changes in water salinity b. Changes in fish migration patterns

c. Changes in pathogen load d. Changes in contaminant levels

e. Answer not known

Leiteu(heuateuBpsled 618l BFHBeTa STevupleney GFHTLTUTET GeuliLiowioTgsedar allenerey?

a. BT 2 U$HSHeTenid LOTBBHIGBET

b. eiiseir S LIOUWITEY (LpewDB LOTHBHBHISEIT

c. Crmuisbalfili®e ereurenidema LOTBBmISENT

d. BT 9555 WLLSH60 LOIBBHIGET

e. alemL Oxflwealedenev

The Chairperson of National Disaster Management Authority is

a. Prime Minister b. Home Minister c. The President

d. Defense Minister e. Answer not known

Gxpdlw GufLiT GevTemientd SLENERIUISHSET HENELaUT

a. My whHHM b. 2 esigiems wHAHM C. MemgHug)
d. urgistiyssiens Wb e. alen O fluielebensv

The most important schedule tribes of Uttar Pradesh and Uttarakhand
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a. Todas b. Nagas c. Santhals

d. Tharus e. Answer not known

o SHTITCHFID WBWILD 2 SHBHTHTWIQEST L0& (LPSHSUILDTET  LILPMHIG LU 60TT
a. Gami b. mrsi C. FMHHe06r0

d. smyerd e. allewL Oxflwalevenso

The most populous State of India is
a. Bihar b. Maharastra c. Uttar Pradesh
d. West Bengal  e. Answer not known
DIFB 0SB CHTenHMU OFBTewIL BbHdHUl LOTH6e0D
a. s b. wamyradigyb c. 2 &FHnilyBsaid
d. CuBE ek e. alemL Ozfuwealsdensv

The total no. of railway zones in India are
a. Fourteen Zones b. Fifteen Zones c. Sixteen Zones
d. Seventeen Zones e. Answer not known
(School Book Source: Sixteen Zones)
@bgwraled FuiledGeu LawILeumiGBaTeT GILOTSHS 6TewmTenldemnsd
a. USHSITEIG LOGWIL GUMIBET b. uHwNbHBH! DG GUBIB6IT
C. UZGITHl LOGUITL GUMRIGGIT d. uSHBevr(y 1DEWTL GUBIHET
e. alemL Oxfwealedenev

Thanthai Periyar referred as the philosophy of Self Respect Movement to

Not having belief in next birth

Not having belief in God

There was nothing beyond sexual pleasures

. Doing a thing which one believes to be right on the basis of reasoning,
thereafter, if any correction is to be made, correcting the mistakes on the
basis of reasoning and also having the mindset to accept the implication of
such actions

e. Answer not known

FHMG Guflwrgmed swioflwmend QuISSHHET HHBHIOD 6TeThanBlLIL LG WTgl?

wp Upided mbSms E6060TOe0 E(HLILIGI

BAenpeuet BH BOLISMS Ee06VTOE0 E(HLILIGI

FBPlausHBES Cevmerdl Q6IBID Ee0enev 616w Flbh&Henent

. UGSHSBaler  SugliumLuled SHaid@ FMNowes BLams OFulagl, SleleuTmsl

Cauipller  SHaumiseT  @HUIS,  UGHSIBHH — HHEHHHCETeTougH,  Goevid
I6IaT6M6T6 HMET JBMISOBTETEHLD  LOGTLILITHIE

e. alewL OFflwalsvenso

a0 o

a0 op

Who presided over the first Madras State, Self-Respect conference?

a. Soundara Pandiyan b. Dr. Subbarayan c. M.R. Jeyakar

d. E.V.K. Sambath e. Answer not known

(WPFHeoTeUH  OFeienet LOMHew, SwWioflwmend WWIHTLML S SHmevenoCWIBmI BL SH&lWwieuT
wImr?

a. CFenbS Iy LITewTIQUIGH b. LrsLiT. aliumymuwes c. M.R. Qawdasit
d. w.el.G8s. Fibus e. oL Oxflwalevemsv
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88.

89.

90.

Match the following

A. Swarajya 1. T.]M. Nair

B. Justice 2. T. Prakasam

C. Dravidan 3. Thiru. Vi. Ka

D. Navasakthi 4. Bakthavachalam
A B C D

a. 1 2 3 4

b. 3 4 1 2

c. 2 1 4 3

d. 4 3 2 1

e. Answer not known

QUT(HSHSHIH

A. swymegwim 1. 1e.6TD.BTWiT

B. 26rdigerd 2. 9. Uysnab

C. FHymeilesr 3. Hm.al.a

D. mougsd) 4. USHHAFFEOLD
A B C D

a. 1 2 3 4

b. 3 4 1 2

C. 2 1 4 3

d. 4 3 2 1

e. alenL  O5fwale0ensy

In 1916 ‘South Indian People’s Association” was renamed as

a. Home Rule Movement b. Madras Association

c. Justice Party d. Dravida Kazhagam

e. Answer not known

1916840 SLewih OHaINbH U 10HH6NT HPHID eleleuTl LIaTIenT DienpSSLILIL L FI?
a. pevenTl & QuisbsLd b. OQseienen gmisD

C. bHbal g d. SgrelL spsid

e. alewL GFflwealedenev

Which political Association became known as Justice Party?

27 | Page

a. Home rule League b. Home Rule Movement

c. South Indian Liberation Front  d. South Indian People’s Association
e. Answer not known

b DIFWed G bFHsL Fwrs wrpsluig?

Gammibemed 658

Bammb hHevL eLpeiIGILD6TBTL

Fous Bewnguiest eILIGTFeaT LNTewiL

Foydh @ewrguie Lugliiererd ICFTFGuigest

alenL  OFflwealedensv

e a0 o

APPOLO STUDY CENTRE PH: D44-24333436, 42867545, 9840226187




91.

92.

93.

94.

95.

[ApPe 10 |

soil is found in all the districts of Tamil Nadu except Nilgris
a. Red soil b. Black soil c. Laterite soil
d. Sandy soil e. Answer not known
ewl  auemd, SO  BTLIgeL  Heodlfleww  Haly BB DDISHS
LOTUL L BIS6Me)ID STewrlILI(h&SImaI
a. QFIbLoeust b. &flged e C. &I(HHBH6OLDGUT
d. wewred 16T e. oL OHflwalevemsv

Identify the option in which the rivers are given in North-south sequence
Godavari - Mahanadi - Kaveri - Krishna

Mahanadi - Godavari - Krishna - Kaveri

Krishna - Kaveri - Godavari - Mahanadi

Kaveri - Godavari - Mahanadi - - Krishna

. Answer not known

AL SHGH-05BE auflmguled oBIH6T CBHTHHSILL (BTN ETens DIENLITEND SHT6wIH
Garameufl - wahH - HTCeufl — HlmHargewnm

waMhd — Carspmeufl — Hmagewm — &TGeufl

dmagem — s1Ceufl — Gasmrmmeufl — w&HMH

&1B8eufl — Gargmeufl — W&HMHFH — SlHagewnm

alemL  O5flwalsensy

oo gy

o an o

Which of the following rivers originate in Karnataka?

I. Bhavani II. Palar III. Pennaiyar IV. Cauvery
Choose the correct one

a. [, II, III b. 1V, I, 11 c. I, IV, I

d. IL III, IV e. Answer not known

SPHHEMILUBDIET 61hFH LBIH6T SHTHTLS LOTHVSHHE0 2 BLIS ST’

I. ueure II. umeomm III. Quemienewiwimm IV. sraiifl
gflwrereuBens CHTHOSHBHSLD

a. [, II, III b.1V, 1,11 c. I, IV, I

d.II, 111, IV e. alenL G fwaisvenev

Pick out the effect that is not related to the impacts of Earthquake
a. Fissures b. Collapse c. Tsunamis

d. Depression zone formation e. Answer not known

yabu urgliysGenmm® QHTLTUBBD almetene OFfle) GFuis.

a. Lemeymeit b. senyol L omgHed C. GFHeTLOB6I
d. &mpey wewi_evld 2 _(HaurHed €. el G fluiaisdenev

Match the following
A. Backwaters 1. Linking up of river system for irrigation
B. Canals 2. Used of crossing broad river
C. Dug out Canoe 3. Connecting one water way with other
D. Dams 4. Used for some limited navigation
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A B C D

a. 4 3 2 1

b. 3 2 1 4

C. 4 2 3 1

d. 3 4 2 1

e. Answer not known

CUT(HSHSHIS.

A. a0 1. ouBemB UTFSHHBHTE LWTLIBGSHD

B. a&meveurmu 2. Quiw syBedB &L 5B

C. gWasmeoaurus 3. @ BT auflenwl wBBCHTH EenenTss

D. sememwt 4. epHw SenalBE@ e b1 CuUTHGHMTSHSHI
A B C D

a. 4 3 2 1

b. 3 2 1 4

C. 4 2 3 1

d 3 4 2 1

e.

alemL  OFHflwialedenev

96. Which of the following idea does not fall within Thanthai Periyar’s definition of
Civilization?

an oo

e.

Accepting every religion

Trying for others also to get whatever good one has got

The total progress of all human beings

Progress based on the scientific inventions of today and making life
pleasant

Answer not known

Brsfabd uBpslu Shme Ouflwmer aumIweamBEGeT 2 LULTEH ShHSHITHHD WTH?

a.

b.

C.

d.

e.

DIMDNHFH! LDSHHISMENUID  JBBISH6IBTETEHSH60

STert  OBTewiL  [HeTenLO&H6T  LOBBAITHEHHGWD LWSTLIGLD  euensulleomer (WwuwiBdsemern
GuoBo\sTeiTeug

DM HSI 06T HTHEHEHESHLOTe (et GearBmLd

BBl oPlaluwled  sewiBLLILEeTeNmed  gBUBL  (PTCaBBIPLD  EeoTlenLoulTent
GUTLDEEMEBUL|LD

alemL  OFflwealedenev

97.  Who started the journal namely ‘Dravida Pandithan’?

a. D. John Rathinam b. A.P. Periyasamy

c. Pandithar Munusamy d. Irattai Malai Srinivasan

e. Answer not known

SymalL LewnigdHei 6B LsHHNbmemul uIbLiigaeeu wmr?
a. 19. omes JHHeud b. e.9. Quilwemo

C. LIGHIQHEHT (LpEIFTLO d. 8y e oenev Fefleuraesr
e. alemL Oxflwealedenev

98. Who is author of the novel ‘Manalveedu’?
a. Anuthama b. Bama c. Ambai
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d. Indumathi e. Answer not known

“wented &iB” eI HTeuellesr LMW wmT?

a. SIWSHHLOT b. umor C. SlbenL
C. @pHHIn e. allenL G flwailstenesv

99.  Which of the following book received Sahitya Academic Award written by
Melanmai Ponnusamy?
a. Minsarapoo b. Kalmaram c. Ahayathukku aduthu veedu
d. Appavin Sinekidhar
e. Answer not known
Gueurentenio GUTeTEIFFTIOUNET FTHHW DBTOHW Ufg GUBB LenL LI 6187
a. WeiramyLiy, b. &evioyid C. QBTWHHHGH DIBHS il
d. eiureler FCHAHHT e. alenL Gxfwaisvenev

100. Who wrote the poem that has this as the opening lines
- Anbu Sivam irandenbar arivilar?

a. Pathirakiriyar b. Pattinathar c. Bharathiyar

d. Thirumoolar e. Answer not known

“‘olery Feudyewt GLetu gpleleonT - eT6Td OHTLMIGID UTL 6M6VLT LITIQUIGUT WImT?
a. uggyamuwmr b. uleHsTT C. UMy

d. Fmeweor e. aleonL G fwalevensv

101. What is Density of Population?

a. The number of people living in per (one) sq.km.

b. The number of people living in 10 sq. km.

c. The number of people living in 100 sq. km.

d. The number of people living in 200 sq. km.

e. Answer not known

WwWéHL CFHTms CFnley 6T6aIBTeL 6T6iT60T?

a. @m 37 HGeom LML euFldb@GD odHHeienn 6T6u6T6001HeNH
b. 10 gz  &Geur 1B LMe0 eulb@GD 10&HeMN6T 616w 6wl dendas
Cc. 100 sgip &lGeom LML euFldb@GD 0&BHeiesn  6T6u6T6001 HenD
d. 200 gz HGeor 18 LM6d euBGID DHBHEM6H  6T6uT60NH6m S

e. allewL g flwalstensv

102.  Why India has not become self-reliant in edible oil productions?

I High cultivation cost

II Low productivity

III Lack of Government support

IV Deficient domestic demand

a. IT only b.Iand III c. I, IT and III

d. I only e. Answer not known

FemIDUIGD 6TewIOemILl 2 BLSHHUTe0 g6l QHHWT HBSFTTL el Walevensv?
[ ampmeoren gn@uy GFeva)

Il eopbs o BUHFH Hper
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III ops suz76] B60eM60

IV Gunglw o _apml B Cxemen &6sTento

a. Il @G b. 1 wspd 11 c. L II wmpio IIT
d.I w’ @b e. el Oxflwalevemsv

103. Which one of the following agricultural practices is ecofriendly?
a. Organic farming
b. Shifting cultivation
c. Cultivation of high yielding varieties
d. Growing plants in glass houses

e. Answer not known
Leiteu(phd alleugmul (pemma&eled 61g @ped BLL?

a. &flio Geuenmemiento b. gngug wIBBD
C. OIFHB BV H(HID AUNBH6MET FTGLIQ
d. seauenmy aiBHeNed QUGB HTEUTHIGEI e. allenL  Ggflwaisbenev

104. Consider the following statement.
1. Bihar, Madhya Pradesh, Rajasthan and Uttar Pradesh have very high
population.
2. InIndia, Kerala has the lowest birth rate
3. West Bengal has the lowed death rate

4. The density of the population is o1 Lation

Land area of theregion

Among these, which are the correct one(s)?

a.land 3 b.2 and 3 c.1,2and 4

d.3and 4 e. Answer not known

LeiTeU(HLD SnBenm Here .

1. dsni, wéHHw MpBsab, @yTmevsrer wBplLd o HH7 LICsad Salwmea SIS
&S CFHTend GleBTemTL  LOTHIVLTGLD.

2. Gazyenm ad GomHSH LBl aldsD CQBTERIBeTTS.

3. CuBe amstend Wad GHmBhd BBl alHsHmed CETeaw(BHeTenDl.

Olors HLO10% B1 C)HTeNS

4. wéz61 OHTMDS DILTHF 6L P —
GoBev HeWILuBmIeT FMWITeIIEn6 6T6n6U?

a. 1 pmibd 3 b. 2 wBmbd 3 c. 1, 2 oBmib 4
d. 3 wBpb 4 e. allenL  QHflwalsvensv

105. Which book explains the four noble truths of Buddhism?

a. Nettiprakrana b. Petakopades c. Buddhadatta

d. Ananda e. Answer not known

bd USSHBD LHD LDSHHHe [BHIeiid LS 2 euienDsemen allend@Himal?
a. OpLigLiysmyenT b. UL BsTLBHFT C. USSHHHST

d. eyehsT e. allewL O flwaievenso

106. Which of the follow epic describes the significance of Thamizhar’s music?
a. Silapathigaram b. Manimegalai c. Neelakesi
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d. Kundalakesi e. Answer not known
slopTselear Gemas Fmplimer aBHHIMTHGSWD STUINWILD 6157
a. deoliugsmyid b. wenlGoasamev C. BeuBsd
d. ge_eGsd e. el Oxflwalevemsv
107. Who among the four Nayanmar made his heart the temple for Lord Siva?
a. Kannappar b. Poosalar c. Vaayilar
d. Sambandar e. Answer not known
eTHHTe0 Feugidb@GHd Gamuiled &L lgul [BTUIGTLOMT uImiT?
a. SHeuTETLILIT b. ygeom c. eumufeomT
d. FbwhbsT e. allewL  OFflwalevemnso

108. What are the characteristics of a classical language?
(a). It has an independent literary tradition
(b). It has a large ancient body of oral literature only
(c). It has a large and ancient body of written literature
(a) and (b) only b. (b) only c. (c) only
(@) and (c) only e. Answer not known
M QFOWTAUIET LN HeMTE SPSTEnID 6lend / slauBenms GBILILIL60TiD?
(@) GghATLINT/HNHaH alaThEGL Be0sbsWl LoJL
(b) Gueb uswewLw BB eaumwiGwTHuieorer &evsdlw  umFLURwdmE L HELW
OBITEUOTLF.

() Qupb UMW WBEBID eTIPSILLL Qevddw UTTLUNWLSMS CSTewIL Si.
a. (@) wigw (b) LD b. (b) WG c. (C) L. @b
d. (@) wBmpb () W G e. el & fwalsdanso

a.
d.
@

109. Which characteristic is expressed in the ‘Perumpaanatru Padai” Verse?
(“Mahamurai mahamurai nokki Muhanamardhu Aaana viruppin Thanin rooti”)
As the Mother willingly watches over they Child. Himself stood in the opposite
direction and saw.

a. Charity (Kodai) b. Valor (Veeram)

c. Motherhood (Thaimai) d. Hospitality (Virundhomputhal)

e. Answer not known

“oapenms BB CBHTHad (PpHIoThe Spem alLler SHrefer mmlg”
-@UIGLIHbUTEITBHILILML.  LITL6Jl60 erlient GeuellibGamg?

a. OasmenL b. affyb C. STUIeHLD

d. &l mbGambHed €. alen G fluiaisdenew

110. Which one of the statement is incorrect regarding the Mesolithic period.
1. Itis the Stone age between Palaeolithic period and Mesolithic period.
2. They used tools of made up of Keny Small Stones
3. The Their Kadugal of Thirunelveli region belonged to this period.
4. This people burned their Dead bodies.
a.1lonly b. 2 only c. 3 only d. 4 only
e. Answer not known

(Note: First statement in English is wrong. Key based on Tamil Statement)
BIPHEWTL_maUH6rled ewl & SMBBTELID LBNILI FnBEBISH6T60 HUBTEIH 6157
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®&FTVD LMW SBHTVHSHIHGHWD LHUW SBHTEOSHHISHGWD SenL LIl L SHT60LD

@IbssHeT WaF FPNw SBHENTEOTERT H(HAlBN6N LGB S 6.

3. FHmHOmevGasd weum LGHHe0 asmemiubL Cafles sThHEeT BmLd SBEHTLHMSD
FMMHHHTH HHBLILBS MBS

4. B53T60 DHHET EBHHATHMEN 61 &I,

a. 1 wi®wb. 2 w @G Cc. 3 W @ d. 4 w' Gw

e. allewL  Gafluailsvenesv

D=

111. This Philosophy was purportedly founded in the 5t century BC by Makkhali
Gosala. It was a major rival of vedic religion. It reached the height of its popularity
during the rule of the Mauryan Emperor Bindusara around 4t century BC. This
School of thought was followed for nearly 2000 years through the 14th century CE in
the southern states of Karnataka and Tamilnadu

Which school of thought is described above?
a. Carvaka b. Ajivika c. Lokayata

d. Mimamsae. Answer not known

@g,g,g@]ﬁum S.1p.S D  HIBBTENgeL  HHTed  CaTaFTevrTeL [ﬂ@l(i).llJLlLLQ@&:&;GDITLD
aeim  SPUOILGSEBS. B Gugp WHSIBG CUEGBD Furers SBEHISH. SH SO
&.p48ud BHIBMTewge Owemflwis GuprasT bgiFmymalear O HosTeudhdHed LHL6r
® FFHMS MLHSHH. BHSHHUD SH.LU.148910 HIBBTEwIH 6uedy &L SHHLlL 2000
OLWI(H  HTELRIHET  OFHEITDTHI6VMBIGENTR  HTBTLST WBBID  SHOPSHH60  CHTLMHSI
LNesrummrLIL L &)

Guevaramitd alleuflliy 6h% SHHIHUHMSH GBIGHBSHI?

a. gireursm b. aifleusid C. Geumsmusd

d. WOwmbam e. alewL OFfwaledenso

112.  Match the following

A. Mahabaladhi Krita 1. Commander of the Cavalry

B. Mahashvapati 2. Commander in Chief

C. Mahapilupati 3. Chief Justice

D. Mahadanda Nayak 4. Commander of the elephant force
A B C D

a. 4 3 2 1

b. 2 1 4 3

C 1 2 3 4

d 3 2 4 1

e. Answer not known

CUT(HSHSHIS

A. wasTUTed H(hHH . @3y LmL Heu)

B. wamerveunig) 2. UL SHHeUZ)

C. wsmisig 3. HMeVeLD HHLIG)

D. wargewiL pTwS 4. WmeneLILInL &HHemLL

A B C D
a 4 3 2 1
b 2 1 4 3
C 1 2 3 4
d 3 2 4 1
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113.

114.

115.

116.

117.

e. alemL  O5flwalsensy

Who was the Director General of Archaeological survey of India at the time of Indus
Valley excavation?
a. Dr. R.D. Banerjee b. Sir John Marshall c. D.R. Sahani

d. Max Muller e. Answer not known

bzl Fwleuel osweummuiFdulesr Curgd @bhHu GHTELLOLTHeT SUialear SUISEGbBT
Oeeumyed WImT?

a. (Ipe&TRUT &i.g)l. LITEuITe)) b. &ir egmet OTTOY6D c. D.R. sammef

d. wr&éed (LpeLeLIT e. alenL GxMuwelsvaned

More than 500 seals have been discovered in Indus Valley Civilization which are all

a. Gold b. Silver c. Terracottas

d. Copper e. Answer not known

Fbg  Fwoeel mEIEfaHHe0 500-6@W0D GuBuUlL  (PSHHmIHeT SO HHHUILL L H.
S|eMEUDBGIT 60 HUTNSSLIULL

a. HRIBLD b. Geueiter C. LDGWTEUNT6L OFUILINILIL L )

d. Ggiby e. alem O fluelesdensv

How the coronation of crown prince was described under the Vijayanagar rule?
a. Aswamedayagam b. Pattabhisegam c. Satabhisegam
d. Yuvaraja Pattabhisegam  e. Answer not known
alWbsT o fullar S Bemeurgifler (Y@L Led eleleuTnl DIMPHBILILL HI?
a. SleveuGguwmesLd b. ulLmiBagsid c. #3miGagsLd
d. weurmey ulLTIBagsD €. afeml G Muwialedenso

A mason uses the expression 2x3 + 16 to represent the area of the rectangular
floor of a room. If the decides that the length of the room will be represented by
2(x+2) then what will the width of the room be represented in terms of x?
a.2(x-2) b. (x2-4) c.(x2-2x+4)

d. (x2+2x-4) e. Answer not known

sl Ceauemevwimell @HauT Siedpuiler GFalaus algel SHemyulet ugliuene] 2x3 + 16
oG  FHTomelddHd  OQsmewiLiT.  oiHeT  Hend  2(x+2)  eeid  @GNeallLTed
DIBHELDTRIH X — 61 FiTUTs  Leieuheuaieummien 6157

a.2(x-2) b. (x2-4) c. (x2-2x +4)

d. (x2+2x -4) e. allenL Gz flweaisbensv

The volume of a solid hemisphere is 29106 cm3. Another hemisphere whose
volume is two-third of the above is carved out. Find the radius of the new

hemisphere.
a.21.5cm b.12 cm c.21 cm
d. 23 cm e. Answer not known

R FHawio SmIsCaransHlear st Seney 29106 &.60515 cwpadled @rewi(h LG Her
SDI6TT6)6VT6IT LomEwiT DT HBHT6NLD 88l (HH3 OB HIHBLILIBLOTEITED ygHlw
SITCHTENSHSH0T SLTLD 616016017
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a.21.5 Q@&.8 b.12 @&.18 c.21 Qz.16
d. 23 @g.85 e. alenL  QFflwalsvensv

118. The difference between simple and compound interest on a certain sum of
money for 2 years at 2% per annum is #. Find the sum of money.
a.¥2,000 b.¥7,500 c. ¥10,000
d. ¥12,000 e. Answer not known
2% opemwih Ul lguled 2 UWIBGEGH @T DFNSEGHD HLH (B U lgHGD Heol
Il 19Sh@&ID Bl Buwiujeien albHwngd B eafled SeuBIIET SIF60 6TeTen?
a.¥2,000 b.¥7,500  ¢.¥10,000 d.¥12,000 e.@alew Gxiwailsdenso

119.  The difference between the compound interest and simple interest accrued on
an amount of 8,000 in two years is ¥405. Then the rate of interest per annum is
a.12% b. 15% c. 18% d. 10% e. Answer not known
Bm eumpLBsaied U8,000 amem i @G eully, SHefleully SpFweuBpiien elbSHwmFd
05 aailed cuBLaI Y &iHID
a.12% b. 15% c. 18% d.10% e. el O fNwalevenso

120. Find the rate of interest if the difference between C.I and S.I on ¥ 8,000
compounded annually for 2 years is ¥20.
a. 5% b. 10% c.15% d. 20% e. Answer not known
B0 &6 Orawi® oiBEEHHE HOLSGD L G I 19HGD, Sl eIl 19shEID
B Buw 2 sfen alGHwngd VO e1axied aul'lyp afsd STewis.
a.5% b. 10% c. 15% d.20% e.alem Q& fNuwialedeneo

121. Who said “Man is born free, self Respect is his birthright, Social Justice ensures
social equality”.

a. Thanthai Periyar b. B G Tilak c. Kamaraj

d. Omanthurar e. Answer not known

“afger FSHHTOTS Lpsdprer, aw  wiwrtemngd  Sleueler Lplyfleno, Fupsnha)

Fpd FOHIHASHMS 2 BIFLGSHID” 616Im Fnpsluteu wimr?

a. peng Oufwimy b. umevsmIBTT &6V C. STLOJTEY

C. LD e. alowL G flwaledenev

122.  Which one of the statement is correct regarding Bharathiar?
1. Bharathiar participated in the Indian National Conference at Kasi in 1905.
2. In 1906 he started Balabharata Sabha at Chennai.
3. He participated ‘Surat Congress’ in 1907 along with VOC.
4. He composed the Poem “Vangame Valiyave'.
a. 1, 2 are correct 3, 4 are incorrect b.1, 2, 3, 4 statement are correct
c.1, 2, 3 are correct 4 is incorrect
d. 1, 2, 3, 4 are incorrect statement e. Answer not known
uUTgSWTeny UBY SEemIL gBmisel] gflwmeigl e1gl?
1. umpdwn  1905-60 &TFUled HLOUBB @hHu BHFul HHHBHIBISHEL H6eVHSI
OleBTeuTLITT.
2. ot 1906-60 LTV LTI FUT 6leB Siemollenl GFerenearuied emLI(hdd5 e
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3. ot 1907 &b WG IS STRBTOD Gl LHHe0 aLe d ULl  SHeUbhdI
OleBITeuTLITT.
ST ‘eumaBo aumPuiBeu’ eT6IB LML 6m6v @UWIBmIU|eITerTT.
1, 2 sm@Bmiser gilwmerens 3, 4 SnBBIGH6T HEUBTETIEN6
1, 2, 3, 4 gappisen Fflwmerenel
1, 2, 3 smpmseT gflwneieme 46Uzl BB HEUBTEISHI
1, 2, 3, 4 SHauBTeIZ
. aflewl  Gafluailsvensv

N o

@)

123.  Which of the following day was named to celebrate the release of Bipin Chandra Pal
by Swadeshi Leader of Tamil Nadu.
a. Day of Deliverance b. Day of Mourning
c. Swarajya Day d. Direct Action Day
e. Answer not known
SPHWIL  6hg Hremmas Lider ghapyumed  alBsHemev OGFuiwbul’ L Breven  SHUONS
654 HemeveuTdel GUWIML HL oL erf?
a. BHM6eV [HI6T b. s165 Hed
c. &aBxpdl FHleomb d. Gpry BHLAIgHMS HT6I
e. allenL G flwailstenev

124. The Editor of Tamil daily Kudiarasu.

a. Thanthai Periyar b. C. Rajaji c. Satyamurti
d. C.N. Annadurai e. Answer not known

FHewgfl mrefigorer @uuigdler oudlfluwir

a. ghengd Guflwimt b. &. pregred C. FHFHWCPTHI

d. d.eer. SiemTHIN]T e. alewL G fwealsdenev

125. As per “Vel Pari’ the book written by Thiru. Su. Venkatesan, the Sahitya academy
winning writer.
(@) “Paari” was a man of nature who knew birds, insects, plants like the back
of his hand.
(b) The story “Vel Pari” was that of conflict between man’s greed and nature.
Which of the above statements is/are correct?
a. (a) only b. (b) only c. (a) and (b)
d. neither (a) nor (b) e. Answer not known
FTHHW BT CeualiiB  e1(WSHSHeNT Hb. & OCoumsCLger TS0 (LRSI L
“Geueit LTM” ereiB HIESET LY o 6o FAWTRT dm@Bens/ dEmBBisamen BHiTa| GFuILIaLD.
(@) “umf” upeneusmer, WFHDe, DHTeuIEBeT SpFweuBens LUBYS  GgpefeuTaa,
alfleutseyd SPHSH(HHS SBUBeNS FTTHS LOONSHT LA
(b) “Geuem LM’ sewpwmengl welsHealer CUITMFHSGL BUBMBHSD Bl UNeOTer
(LPTEDET  LIGHBFTBMIS B!
a. (a) WL B b. (b) wr @G c. (@) wppid (b)
c. (@) ab @evenev (b)wb Bevensev
e. alowL G flwalsdensv

126. Alamgir nama was written by whom?
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a. Jafar Khan b. Muhammad Qazim c. Aurangazeb
d. Mukhtiar khan e. Answer not known

SLEVIDST BTOTeNa! SuIBpsuigl wmT?

a. | .LT ST b. (asibiog sTaiD C. Sl JmIGSLI

d. Wpégpwrt ST e. alewL OxHflwalevemso

127.  Arrange the chronological order

1. Death of Humayun 2. Second Battle of Panipat

3. Building at Fathpur Sikiri 4. Proclamation of Din-illahi
a.2-1-4-3 b. 1-2-3-4 c. 3-4-2-1

d. 4-3-2-1 e. Answer not known

SPHEWILABMB BTV  aUflenFILIBSHHIB

1. emeoTuleofenr @MU 2. @yewrLmb umeiiiul (B GumiT
3. uBslyT Faéfl s LLILBHH0 4. et Qevransl HD P
a.2-1-4-3 b. 1-2-3-4 c. 3-4-2-1

d. 4-3-2-1 e. alen QFflwalsvensv

128.  Which land distribution system adopted by Sultans of Delhi?

a. Iqtadari b. Mansapdhari c. Subhadhari

d. Zamindhari e. Answer not known

G606 GFELHTEIHENT6L GBMISOBTATEMILL L Blev aIBCWITS (LpewB 6157
a. ®&5HH b. weraiigmfl c. sugm

d. mifaismi e. afew. G fluialedensy

129.  Which of the following is/are not situated in Rajasthan?

a. Dilwara Temples b. Mehrangarh fort

c. Bara Imambara d. Purana Qila

a. (a) and (b) b. (c) and (d) c. (a) and (c)
d. (b) and (d) e. Answer not known

SparanILBLUmaIB6Ted 615/ eTenal TS TaN0 SIMLOHS (HHBaNe0em6e0?
a. gleveumym Gsmalle0sse6lT b. GQuamgmistT Gam e

C. UgT @LTibugT d. ygmemm &eor

a. (a) wpmib (b) b. (c) wimib (d) c. (a) wBEID (C)
d. (b) wspib (d) e. alewL Ggflenws

130. Who served as British Ambassador to the Mughal Court?

a. Bernier b. Edward Terry c. Thomas Roe

d. William Hawkins e. Answer not known

wpaeoTw SyFeneuuled UM gad Srgeugres UsllwmmslweuT wimr?

a. Qufreiwi b. eleum’ G c. moerd Gy

d. elebedwid eamrsdered d. el Gafwelsvensv

131. Thanthai Periyar wanted people to consider the following as equal to their lives
a. Independence for the motherland b. The family honour
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c. Self-respect d. Rational faculty

e. Answer not known

FHHemd QUWNT, 1HH6T FHEIB6T 2 ulhH@ eUIUTE eTewient Geuswi(BD 6160 @I(HOLIWIG
a. MUl BIL g alHHmev b. ®®GwuU Seyeuld

c. aw wilwrems d. uGHBSBWID HmesT

e. alowL G flwalsdensv

132.  Identify the Personality:
a. He was honoured with such titles as Rao Sahib, Rao Bahadur and Divan
Bahadur for his selfless social services he did for the marginalized in the
caste order.
b. His autobiography is Jeeviya Saritha Surukkam which is one of the earliest

autobiographies.
c. Hefounded the Adi Dravida Mahajana Sabha

Who he is?
a. Thanthai Periyar b. Rettai Malai Srinivasan
c. M.C. Rajah d. M. Singaravelar

e. Answer not known
DLEHEDLOMUI  DIGDLUITEITLD  SHITEmI6LD

a. agngl euflenguled PBIGHILLL QITHEDSSTS  SieufT @&u_lg, SHEQTEOLOBHB &IPS
Cremous@EpdHHTH JTel USHTT, JTel &THll WBHID  Heumel USHIT  616Is
UL misenen OBTBHSH Cdeangaldsslil L.

b. sens swsflws MSelu slg GHSSD DFDUSTED FHWFTNDSH6M60 QETBTGLID.
C. ST & FHITelL LLSTMET FenLienw! bHnIeN6TTT.
WM SLeuT?
a. Hhemg Gl b. &y emL 1emev ferNeuTaest
C. enb.d. gmegm d. enb. Fmusny Geuevi
e. allewL G flwalsvensv

133.  Who first introduced Cartoons picture in Tamil Magazine?
a. Ramnath Goenka b. T.V. Ramasubbaiyer
c. C. Subrahmanya Bharathi d. G. Subramanya Iyer
e. Answer not known
WP (PHeJe0 SHSBHILILLHISHemeT SO B FHDH6eM60 DIBI(PSLILIGSHIHWIeUT WmT?
a. gmbpTsh GHTwmIST b. T.V. gmwatienuwm
c. C. atiywemi umyg) d. G. ainlywewiur gqui
e. alewL Oz flwealsvenso

134. Name the women leader who participated in the Neil Statue Satyagraha in
Tamilnadu in 1927
a. K.P. Sundarambal b. Padmasani Ammal

c. Muthulakshmi Reddi d. Selvi Dugabai

e. Answer not known
SUPEHH60 1927 oib oLewiB, Hev 2 (Hau Fewev FHHWETE CuIITLL HFH60 H6VbHSI
OamewiL Guewioenll (&Hwimas)
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a. Gs.1. a&bsyTbUTET b. ugwrgmedl euborer  C. W HSBEOL GO Qg
d. Qgeval gitédamuTul €. ol OFfluwalsdensv

135.  Which one of the following statements is/are correct regarding Chenbagaraman
Pillai?
1. He hailed from Kanyakumari dist. Of Travengore State
2. He started Bharatha Matha Valibar Sangam
3. He married Laxmibai of Indian National Army in 1931
4. He joined the German Army and fight against the English in I World war
a. 1,2, 3 are correct 4 incorrect b.1, 2 are correct 3, 4 are incorrect
c.1, 3, 4 are correct 2 is incorrect d.1, 2, 3, 4 are correct
e. Answer not known
Speumld  FmBpIBeied OFewiLBITIONT LleTenenr uBpPlw  glwmer dmBm [/  FBmisei
eT6m6u?
. @eait Hepaumhgmt ofled sae@lwTGf Tl L SHMd FTTHSHIT
2. @ UTISH LISHT GUTEIUT FRIBLD 6leiaID SienDlienL BHTBBIANHSHTT.
3. B®aim GhHw BxAw jrameubms FTihHS el afuremw 1931 60 S HLoewid
Cauigl O\HTeuoTLTT.
4. BSeait Oggmormeilw  umLuled GFTham (1pHeL 2 euslIBumiled  &BIFAGUWIHSB:E
agymTed  GumymigentTiT.
a.1,2,3 af, 4 saupreig
b.1,2 sflwreig 3,4 seupreis
c.1,3,4 silwnerg 2 w (BD HAUBTIH
d. 1,2, 3,4 siwreig
e. allewL  Ggflwailsvensv

136. “Every registered Land holder is its proprietor”. The system is called as
a. Ryotwari system b. Mahalwari system
c. Zamindary system d. Mugalayar system
e. Answer not known
“ugley CFWIm BLHMS MaUSHIGTET PIGCUTHAIBLD DHT CFTHSHEHTIT STt b
(LpenmenU] EeUeUTHI NP SHEVMLD
a. @grwgHgieuril (pewm b. w&eveurfl (Lpemm
c. e (ews d. gpseomwit (ewm
e. alowL G flwalsdensv

137.  Punjabi language has close connection with

a. Hindi and Urdu b. Hindi and Sindhi c. Persian and Urdu
d. Sanskrit and Hindi e. Answer not known

UehamLl Giomfl o el QBmHRSW OFHTLTY 2 emLuig

a. afibd WHHID 2 B b. afiba wBpID Ab)

c. umyfsd wBBID o (Ha d. FwevHHSD WHBBID anfihH)
e. alewL Gz flalsdensv
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138.

139.

140.

141.

142.

[ApPe 10

CHRRNAL

Which article of Constitution of India mentions the abolition of untouchability?

a. Article 16(4) b. Article 17 c. Article 18

d. Article 19 e. Answer not known

AbFHw oFFwevenolILen g FTHaHI HWILTen el ubs @BEUIGaEBE?
a. 16 (4) 153l b. 17 sysal c. 18 FrdHal

d. 19 g75a d. alewL Gzfwelsvensv

Which ideology threatens Indian Unity?

a. Communalism b. Communism c. Democracy
d. Socialism e. Answer not known

b SBHSHIW SHIHW PBHIMOMUL DIFSHBISSIBBSI?

a. GULeUTSHLD b. QurgleemLenip C. &HeNTL &
d. Gsmfwedguid e. alemL OFfluialedensv

Which of the following statements regarding political parties in India is/are correct?

a. Parties in India function within the institutional framework of a federal
structure and are bound by the country’s electoral laws and rules

b. Strong institutionalised parties vital for healthy democracies

a. (a) only correct b. (b) only correct

c. Both (a) and (b) are correct d. Neither (a) nor (b) is correct

e. Answer not known

ofwed s el GSHH SDSTEILILGD auToHSWniselsd g/ demal Fiuimerene?

a. @b OrFwed HSLFFET @ SULTLF gl LdWILEGT OFueOLIBHS 6Tt
Guauid BT a1 BHTHe0 &FLULMmB6T OBBID 6lHSEHdHEG SLHLILIGHS 6B

b. Apliumer MeBTWS  BIGHEHHEG QINIITERT  BBICISIOTSBIUL L &L o6l 106

(PSS LILDTETEN6
a. (a) w G &M b. (b) wGw &l
c. (a) wbpd (b) w G &l d. (@) wo Sevewsv (b) Wb Hedensv

e. alewL G flwaledensv

Which Woman Freedom fighter participated in the Madras salt Satyagraha?
a. K.P. Sundarambal b. Muthulaxmi Reddi
c. Selvi Durgabai d. Padmashini Ammal

e. Answer not known

absd elbhdHemeols GumymiL Ouewioemi GLOLJTed 2o (] FHHUTHTHHH H60bHSI
OlemewrLmi?

a. G&.19. &msyTOUTET b. wsdaeor sidl Gy ig c. OFeval FiTdhaTUTU]

d. ugordled ojbomeit e. allewL  OFflwalevenso

Which one of the factors responsible for the South Indian Rebellion?
i. Company Reforms in the Palayam
ii. Economic exploitation and heavy taxation of the company
iii.  Famine in 1798
iv.  Frequent wars of the company
a.ionly b. (ii) only c. (iii) only
d. (i), (ii), (iii), (iv) e. Answer not known
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SpHemiL HTJenllseied OFHearaibHul HenTeddlodE STTeMIOTES DMOHHH 6157
1. uTemenmIB6fed SOLTIUNGT FT(HIHIBISET

ii. &bOUeT QUITHEMTSHTT G660 LOBEXID DIFSLIQUITET 6ufl el

iii. 1798 60 g@BULL LEhFID

iv. sbouel BLEAW Digdsiguirer CUTTSET

a.i LB b.ii G C.iii L (BIb

c.1,1i, iii, iv e. alewL G flwaledensv

143. Who was called the “King of the Two Worlds”?

a. Tipu Sultan b. Hyder Ali

c. Doondaji Waugh d. Veerapandiyan Kattabomman

e. Answer not known

Breni(p 2 VMBS DTFET TN DIENIPSSLILIBLIGUT WITT?

a. Y SO et b. mansT el C. HMWILTY 6uTd
d. efyumemigul &L L QUITLDLDGST e. allewL G flwalstensv

144. In 1929, at a “Self Respect Movement’ conference in Chengalpattu, Thanthai Periyar
passed a resolution relating to an important matter -

- In1989, 60 years later, Tamilnadu had passed a law in this regard.

- On August 11, 2020 Supreme Court passed a judgment in this regard.

What is this?

a. Giving equal rights to woman in Government employment

b. Giving equal rights to woman in family properties

c. Giving priority to certain communities in acquiring land rights

d. Giving priority to certain sects in accessing holy places

e. Answer not known

1929 &b Sewih OFMRISEOLILIQED L LUl &woflwmemsd Buisbs WIHTLIQ, SHhHend

OuilwTT QT (WeHHw elLuid QFHTLTUTET STOTETHmS SuimeoT.

- &It 60 Se(BhHEHHS LB 1989 Sub Lewige, SHOWWSD DiGHemen FL L LTS
BuBBIuLISI.

- ool 11, 202060 2 FFHAHIOAIBL DG OSHTLTUTET SHTUHLUID ULPHRISUISI.

Guevsmamid LISHUNGD FaplilL alLwibd wrg?

a. Guemiamids@ SFF Geuemev eumuwiied &0 o flenio

b. @Gbu CFTEHHd OQuetiamsg g 2 Menip

C. @@ dov FepsmdEhdHE Heod o Mfenn GuBuZed (peieniflenio

d. @ Fev MMeysensdd Lelsd B misefsd HmwadHed (eaiflentp

e. allewL g flwailstensv

145. “ , , these three for aye to rulers of the land belong”
In the above Thirukural the word “These three” means

a. Education, wealth, bravery

b. Virtue, wealth, bliss

c. Sleepless promptitude, knowledge, decision making

d. Love, Decency, Affection

e. Answer not known

, , SDeLpEBTHILD
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BRIST HleveuTeT LeUBE.

GuoBsranid HHHGmeTled L DOUBID “@bapaIpId” eleiaid QFTed GMLILima.
a. &eval, GFeveld, &fylb b. omib, QuTmeT, BesD

C. HBIGTEMD, &H6La, Hienie] d. o6y, uewiy, UTFD

e. alowL G flwalsdensv

146. Regarding the word ‘Fraternity’ in the preamble of Indian Constitution, choose the
correct statement(s)
(@) Itleaves noroom for regionalism
(b) It leaves room for communalism
(c) Itleaves no room for casteism
a. (a) and (c) b. (b) only c. (a) and (b)
d. (c) only e. Answer not known
OhaHw  oFweosmliier  (waleiemrulled UWETUGSHSUILUGD ‘FHTHIHSHIAUD 6T6IB
CFmed OBHTLTUTET SPSTEMID FmBpISeed FilwmareuBens CHiTey GFUIwaLD.
(@) o WpPuansddie Bwelbsis
(b) o aeiyITssSBE BLieldeDd
() o3 FTHUATHHHBEG BL eflebETdi.
a. (a) wBEIb (c) b. (b) wr @B c. (a) wmmb (b)
d. (c) w’ @Bw e. alewL G fluiailedensv

147.  Consider the following statements:
1. The term of office of the Attorney General of India is not fixed by the

constitution.

2. The remuneration of the Attorney General of India is not fixed by the
constitution.

Which of the statements given above is/are correct?

a.1only b. 2 only c. Both1and 2

d. Neither 1 nor 2e. Answer not known
SPHEWIL. FnBenDB 6lewTenill LITTEHS

1. @hauw HEMELEMLD au1pa &3 @b fledt LIS &IT6VLD SITFlwieuemLoLiLNev
BlTeTU & &LILIL a1l606960

2. @bFHuw HEMELEMLD o1& &3 @b flest o6 FHUILD ST FuIeemLoriL 60
piTerulssliuLalledensy GaTHHSLILIL (BT TS WmISaTe0 o1& Filuimeng?

a. 1 W b. 2 w @w c. 1 wBpb 2

d. 1 wBpIb 2 Siedev e. allewL OFflwalevenso

148.  Consider the following statements.
A High court has jurisdiction to
1. Punish for its contempt
2. Tender advice on a legal question referred by President of India.
3. Tender advice on a legal question referred by Governor of the State
4. Issue certain writs to protect fundamental rights
Which of the above statement(s) is/are correct?
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a.1and 4 only b.1, 3 and 4 only c.1,2,3and 4

d. 2 and 4 only e. Answer not known

® WMHAHIDSIB DIHBTT OHTLTUTET SIS FnBBIHEmeT HeU6 &H6LD.

1. PP DIUDHILBEHEEG SHEWIL MG  GULPMKIGHSH60

2. @ Guurs  SHooaflLfmbs  Congmerdet  GaHUEILLLTN  DIMS
QULDRIGHEVTLD

3. wrHev SLenBALOHHA DCeoTFameandssT B ELILLLTED iehdH GULDHBIGEVTLD

4. opliuemL o Mewsmen UTHISTILUSBHTS 60 BupTenswidemen LIBLILN&EH60TLD.

Seouppled 61 Fflwmen gnBmi?

a. (1) wBmIb (4) WL B b. (1), (3) wBEmIDd (4) WL B>

c. (1), ), 3) wById (4) d. (2 By (4) wCED

e. alenL  Ggfwealsdensv

149.  Which of the following statements are not true?

(@ In 1969, the Government of Tamilnadu appointed a two-member
committee called Rajamannar Committee to examine Centre-State
relations.

(b) It recommended that All-India services should be abolished

(c) It recommended that Finance Commission should be made a permanent

body
a. (a) is not true b. (b) is not true
c. (c) is not true d. (a), (b) and (c) are not true

e. Answer not known

SDBTIILGBID UTHS LIRS0 clenal/ (H) SHoupTersl/ (ewel)?

(@) wHHW WLIBL 2 Beysmem oUley OGFULIW 1969 b WG SOWETH DIy
gregeiedimt S 6B @Jeni(h o MBIl oHmend BTNl L) 6iTenD
BUIHSSSI.

(b) oz Pl @b Crmeusmen @WHs CouawiBld ey LNbHHI®TSHSHI.

(c) Mg owmemub Bpeulu’L @ BIbsy Sewliurs @mes GeuemiBL  6res

LibBIenT SHS.
a. (@) FHuBTeIH b. (b) seumpreig)
C. (C) SHUBTIH d. (a), (b), wBEmID (C) HeuBTeIENaI

e. alowL G flwalsdenev

150. Which schedule of the Indian Constitution specifies the powers authority and
Responsibility of Panchayat?

a. Seventh schedule b. Sixth schedule

c. Tenth schedule d. Eleventh schedule

e. Answer not known

@haw  opFwevemoliiear b DI Leumeniulsd LEhFTWSHSH  (LpedBuUle  DLBMmeD,
SIFSTID oBmId GuImItiyseT GBIUULLIuLC HeiTermeo?

a. 7ol S L 6Ueneut b. 6eugl oI auenew

C. 106ugl SI L 616n6u0l d. lleugl &I L euenemt

e. alowL G flwalsdensv

151.  Whom does Valluvar call a fool, though he is learned and scholarly?
a. One who fears to talk in the assembly of the learned
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b. One who does not get along with the society

c. One who fears to go to the battlefield

d. One who fears the rich

e. Answer not known

LeVSMBBID DIBIIeOTHTT 6160 UeTEHEUT WTenJEF &iL (hammiT?
a. aB6mprT omeuuled Bus SiehadlaBelen]T

b. 2 waHBHTH @HH L HBTHIM]

c. CuTTeaMHHBEGHF GFe060 Oi6haHF BIBeUm]T

d. QFeveubHMIH HEWI[H Ol6hdHdEIBEIEN)

e. allewL G flwailstenev

152. “ These four a light of dreaded kings reveal” What are the four virtues of
a King according to Thiruvalluvar?
Creation, Production, Protection, Planning
Morality, Wealth, Happiness, Eternal dwelling place
Beneficience, Benevolence, Rectitude and care for his people
All the above
Answer not known
BTG o emLwmemd GeoubsiToh@ e6f, 66l  eUGTEHAUT  6TaUMBemN?
Goubs@mdb&Hd FmBISDBIT?
a. BuImBmeD, FLL6D, HTHIH6V, HTHH6UEGHHIH60
b. @mi, QurmeT, Beiib, ip
C. OxTemL, HHM6W, b, HEMTHSH GYHN6NSH BHITSHH6L
d. GuBHIL DIDBIHSHID
e. allewL  Ggflwalsensv

S0 an TR

153. What does the following Thirukkural reiterate? “who with deceitful mind in false
way walks of covert sin, The five-fold elements his frame compose, deride within”

(“Vanja manathan Paditrolukkam Boothangal

Aainthum agathe nagum”)

a. False respect b. False truth c. False behaviour

d. False pretence e. Answer not known

QUEhT LOGTSHSHTE LIgBOBTIPSHSD LSHHISENT

RHSID A5G0 BGID - BH0 LBISS LGNS 6TSI?

a. Gumel wflwrens b. Gumel e_ewiento c. Gumel @pdsLd

d. Gumed mIgriL e. alen Gxflwalsvenev

154. How does Thiruvalluvar guide us to overcome trouble?

a. Accepting trouble b. Fighting trouble

c. Giving trouble to the trouble d. Feeling Remorse for the trouble
e. Answer not known

FHBLUSHMSH elaleuTn Gleusdev GeuewiBd 6Tl FH(HeusTEheuT GBMILILIGSHHISBTT?
a. oLYGw gmBIS6ET6TEHEH6E0
b. adisaint Curgmhged
C. HFUSHBG HITLLD COFBTHSHH60
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“

d. sisusHer CuTE aIhHHISH
e. alowL G flwalsdensv

Irandum Thangaa Viyanulagam
Vaanam Vazhangadhu enin”
(Though the wide world lease and if heaven its watery
treasures cases to dispense)
What are the two good deeds that will not happen according to this kural?
a. Charity, Love (Dharmam, Anbu)
b. Gifts, Austerities (Dhaanam, Thavam)
c. Penitence, Pleasure (Thavam, Inbam)
d. Virtue, Money (Aram, Porul)
d. Answer not known
" BTG HHIST alulene0HLD
GUTEUTLD GULDMISTEHI 6CTEuT6H
GuBsramid HHBHGMET eTelallenaTHeT HOL CUBTH TOIB FnmIBBSHI?
a. HDID, &evrL b. smenib, Heuld C. eI, BedTLID
d. @pib, QuTme e. alenL Gxfwaisvenev

Find the principal on amount ¥11,800 at 6% per annum for 3 years being simple
interest annually.

a. ¥8,000 b. ¥9,000 c. ¥10,000

d.¥9,500 e. Answer not known

ABTeRIGseiled 6% sSalaly aisbd Cwriss Oxtams AU1,800 el DFmevs
A EIES

a. 8,000 b. ¥9,000 c. 310,000
d. 39,500 e. el Oxflwalevemsv

The value of a machine depreciates at 10% per year. If the present value is ¥
1,62,000. What is the worth of the machine after two years?

a. ¥1,29,600 b. ¥1,30,600 c. ¥1,31,600

d. ¥1,31,220 e. Answer not known

o Bubdrssel FHBGutsw  wHy T 1,62,000. @aiGauTm  SLRIBHGID
Buibsddar  wgiy  10% Gopdps.  aalsd, QNG owIGHT SIS
AeiWbSHTHHe LI 6eTedrent?

a. ¥1,29,600 b.¥1,30,600 c. ¥1,31,600

d.¥1,31,220 e. el Oxflwalevemev

A sum of ¥48,000 was lentout at simple interest and at the end of 2 years and 3
months the total amount was ¥55,560. Find the rate of interest per year.

a. 7% b. 8% c. 9% d. 10% e. Answer not known

BLAMS UPHIBLILLL Fe0 48,000 &G 2 SUewiBEH6T 3 1THE HTOSHHBESGU L6
sefaulg eweold QUBLILLL  QwTsHsd Camems I 55,560 b BHbHSHH 6aled el lg
AHHNHH HTEWIH.
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a.7% b. 8% c. 9% d.10% e. ol G fuwialsvensv

Raghul wanted to find the height of a tree in his garden. He checked the ratio of
his height to his shadow length. It was 4 : 1. He then measured the shadow of the
tree. It was 15 feet. What was the height of the tree?

a. 15 feet b. 30 feet c. 60 feet

d. 75 feet e. Answer not known

AITGHL FHAGH CHTLLGHFHL 2 6o @h WIHHT 2 WIHmd B al(HLoLleriT.
SIIBUTH ST HTFH 2 WTHMBUID, HTH HIPEJET HEMTHMSUID DIeMHSHI DG 4 :
1 aap aldHHHe0 2o 6lenend DBHSTT. e wrsHHer maedsr Herd 15 Sy
oTedll6, LDJSHSHET © WITID 6Tevr60r?

a.15 s b.30 sg c.60 o9

d.75 e e. el Oxflwalevemsv

A shop keeper marked the price of an article as 15% more on its cost price and
than offered 15% reduction for the article, then he got

a. Profit b. Loss c. Neither Profit nor Loss

d. Profit as well as Loss e. Answer not known

QM SMLESMIT @ CuTheial SILds almeouled 15 FHaldHd DHHOTHS  IH6T
GBHS alemer HHGHIDBTT. DIFHeL 15 FHaiHD Hel@pLy SHHAH alBumeT OFUISMBTT
GTN60 HEMLSHBMIT DIGWLHSHSI.

a. 6umLILD

b. BLULID

C. 6UTLI(PLD &606m60 [BLL (LD E606en6v

d. eoruwTsaD BHBGID BLLITHAD B([HDHESID

e. alenL Gaflwailsvenev

161. Consider the following statements:

I Governor is appointed by the President.

IT He is the nominee of the Central Government.

III The Draft constitution provided for the indirect election of Governor.

IV The Constituent assembly opted for the indirect appointment of the
Governor

Choose the correct answer:

a. (I) and (II) only correct b. (I) and (IV) only correct

c. (I) and (II) and (IV) only correct d. (III) only correct

e. Answer not known

BIDHHWIL FBOB  H(HSHALD.

I ouenbT GUIs Hmeveurmed BB,

II ot WHHW DPFTRISHSHTE0 HUWTD CFUILD HUT SLEUTT

III suemyey SpFwevemoliyg FULID QLEHHT HUWETHHBEG LOBWE  CHTHe0
(LPOBENU!  QULOHIBIULIG.

IV oppdlwevenioliy mitewi gFenu, SLEHBT CHTHHE LMBPS HIUILDET (LPEHNBEMU
dbSHHH OBTEWIL F).

gflwrenr alemLenw OFHfHOHBHDHS.

a.l wpgdp 1T ' G & b.1 wmmp IV w G &l

c.] wpmd IIwppw IV wl@n & d. 1II w' Gw &M
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e. alenL  GgMwealsdemnsv

162.  Which of the following Institutions has the final Power of deciding on the
Composition of the Upper House of the State legislature?

a. Parliament b. State Legislature
c. Lower House of the State legislature d. None of the above

e. Answer not known

wrplev  FULIWSB  Gweveneuuiest o mrilenT  elawicnlbamEmWl  HiTewuldbs  dnlgul
BmieueTd wimg?

a. UMJT@HLOGTLD b. wrHlev &L L oesBLD

C. MHev &L LIOSIBHH6 &Blpemel d. GuBaapul eemeuu]d Be0en6v

e. allewL G flwailstenev

163. The Indian President has a veto power over

164.
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I Ordinary bill

II' Money bill

III Constitutional amendment bill

IV State legislation bill

Which statement given above are correct?

a. (I) and (IV) only b. (IV) and (I1I) only
c. (I), (IIf) and (IV) only d. (II) and (III) only

e. Answer not known]

BhFu  GuuIs  smeve]  apel  H  JHH  CFLESB  AHBTTHDS
O\ T 6w (HESIMBITT

[ asnamyewr wCsnam W

II ¥g wlsnsm g

III spflwevemolig FUL HHsHs WCFTHT 155

IV onplev gL w@arsm gl

GopampsluieuBmieT 61 Filwmenndl?

a.l s IV wl G b. IV wmmnd III 11" Gid
c. L II wmpd IV 1wl Bb d. II wmmnd 11T 11" Hid
e. alowL  Ggflwalsdensv

I Money Bills can be introduced in the parliament without president’s
approval

II The finance commission is appointed by the president.

Which of the above statements are correct?

a. (I) only b. (II) only c. Both (I) and (II)

d. None of the above e. Answer not known

I mg wBasrsr, memdHudulesr vufbsengulens  BHILTEHOGIBSHH60  HTHDH60
OFuwwiu@Gb

II @haw Bg opemeniuid MemmAHUSWTed BULboHUILBS BSI.
Guomgnpwieumpsled 61z Fflwimeng)?

a.l w' Gw b.II wi @G c. I wpmip II
d. GuBseami amaiujfisbene €. alewL Gafuliaievensy
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165.  The council of ministers of the Parliament hold office during the pleasure of
a. Prime Minister b. President c. Parliament
d. None of the above e. Answer not known

BTLTEHLOGTHE DMFFTeNa BIQUILISH, SeUTH SETHENLOUITED
a. Ugso wphaf b. memgug) C. [BITLIT@HLOGITMBLD
d. @6 aHaD Be0en6v e. el Oxflwalevemsv

166. Whom does Valluvar refer to as blocks in the kural

“ Arampolun koormaiyar renu marampolvar”

(“Though sharp their wit as file, as blocks they must remain..”)
a. Those who speak useless words

b. Those who are void of humane courtesy

c. Those who do not have love in their hearts

d. Those who covet others things

e. Answer not known

"orbBUTeID FniTemiowl Gyenid LOFIDGLITELGUT”

Wy CUTETBEUTHET 6TeTMl eUeTEHEUTT6L GBI LILdGuUeT WwmiT?

a. uwefed Gamed GugiLeuT b. 1p&H6lT LIGwL] Be060TSH6IT
C. QBHHe0 et BevevrdHeuT d. LIpfler QUTHEDSESG SLESFUILIBLICUT
e. allenL G flwailsvenev

167.  According to Thiruvalluvar “what is friendship with the good” compared to?
Having friends who made our heart happy

Having books that give perpetual delight

Having a face that shows anger

Having a staff that measures one’s friends

. Answer not known

LUWe0OISTMILD  LIwTL{enL WITemT OHTLITL elendll CUTEIBEH 6160l Hl(HeU6TEHEUT SnBISMTT?
a. 9IBbhs BLugk Gureimsgl

b. malebOFHTmID BHT6L Bwid GCuUTEIBEI

b. sGHaEHID ST B (WHD BUTEIBSI

d. dewenepeny Brg SemiILGHTT GHmed GUITSTBSI

e. allewL G flwalstensv

an g

)

168. The saying “Thirukkural” has a balanced religious quality is because

1. People from all religions say that it belongs to them

2. Because people who say there is God and people who say there is no God
accept it whole heartedly

3. Itis beyond type, caste, religion, class

4. Because it writes about ethics and knowledge needed for human race

a. only 1 is right b. only 2 is right c. only 3 and 4 are right

d. all the above are righte. Answer not known

“glowl BBBmeLl LewiL] OSTRIL & H(HHSGHM6T 6ITUTT DHamBBISEG STT6wILD

1. 6T606UTHF FIOWSHSHHD @G 61D HT6L 6@l Fmmid FpUl CUBBSTED

2. sLeeT 2 Wi eIaileuT LU BLO6 @6Lem60 eleTLIBLD 2 albdhl gBE&HWD  FpLill
CuBBSHTEL

3.  @eib, g1, FoWD. UGl 6eLeuTaUBBIBE@GHL DILIUTBLL L &HT60
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4.  weld BDOHHBSGL OUTHUTET QUSSHIPD. DPleyd DIleymISHHLILIBHISHT60
a.1l w @ g b. 2 w @b &

c.3 wBpib 4 w’ G & d. 9massip i

e. allewL G flwailsvenesv

169. This place is located 12 km South East of Madurai. It proves the fact that an urban
civilization existed in Tamilnadu in the Sangam era on the banks of the river Vaigai.
A researcher and retired civil servant Thiru R. Balakrishnan points to the similarities
between this civilization and Indus Valley Civilization.
Which of the following places is described in the paragraph above?
a. Azhagankulam b. Porunthal c. Keeladi

d. Kodumanal e. Answer not known

el b  wamIuledmha  OFHSIBINEHEG — FHomauie, 12 &8 GxTemevaled
SDIMLOHSIGTENG. ‘&)Lﬁ]@&,‘&,ﬁm MEUMB  BBEISMIUID FRISSHTED [bHSJ [BTHeD
SIMHSH(HHSH LBBIL 2 _auienomul LenBFTBBISBS. JTUIFFWTenmD Quie] GubBs

g SiFsTiuorer S, QT LTS (Hagemeal, @mE DDHSH([HHS BHTETSHHBEGHD
Fbgl Fwleauel BETHNBSHHBSD 2 6116 @BBIHLIOHMET &L 19HBTL (HEBTT

aA. SIPBEBIHENID b. QuTmBHHe0 c. &g
d. G&r@wented e. alemL OHfluialedensv

170. Which of the following objective are true with relevant of Tamil Nadu Social
Welfare Board?

L. Upliftment of people living below poverty line through voluntary
institutions in the state

II.  To promote setting up of Non-governmental Social Welfare Organisations

III.  To render technical and financial assistance to the voluntary institutions
for better quality and standard of services

IV.  To strive for equality between men and women

a.l, Tand IV b. II, Ill and IV c., I and IV

d. I, IT and III e. Answer not known

SOWDBTH s [  aumfwdbHIL 6l  GFHTLTHmLW  leteupd  Chpresmisened  6g
® eurento?

. omheugFHed o 6o HSIRMMTEN  [HIBIUATRISET clpevld auBIeNd CaMlBHGHd Bip

euUT(PLD & safent Gobum®h

II. ops Fmgm Fepd HeL DIMOLILBEN6NT 261dhGHaldHSH60

III. Fphs &rb wBpw GCsmeusela SISHDBETE SHTaITTal  [HBICISTRISEHEES)
OaHTHeOHIL L OBEID HFH 2 FHalHmen IPHIEHED

IV. oabisend@h OUaisehds@GD Semuleomear FoHHasHHBETE LTGUBHMIS

a.L II wppp IV b. 1L III wppid 1V

c. L III wmpd IV d.L II wigwp 111

e. aleowL Gxflwalenev

171.  Which of the following articles broadly Govern the relationship between the Prime
Minister and the President?
a. Articles 74,75 and 78 b. Articles 51, 74 and 75
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c. Articles 85, 74 and 75 d. Articles 74, 75 and 79

e. Answer not known
eteurpd  6hd  alldsdeT  memalugl  wmmid Ugso whpdHfulesr 2 mesenent

alleulasleinment?
a. aldser 74, 75 w@m@id 78 b. eldser 51, 74 wB@Id 75
c. algse 85, 74 wBmID 75 d. elgdser 74, 75 w@m@Id 79

e. allewL G fluailstenev

172.  Directive principles of State Policy are described as “life-giving provisions of the
constitution” by
a. L.M. Singhvi b. Ambedkar c. Rajendra Prasad

d. Radha Krishnane. Answer not known
og GCrryg eaufer @ OCsmeTensser eaLg  OdfweomliiBg o ulyefdgd

alFHdenm@HID* 61601 a5l GOTTIT.
a. elev.erd. lmiad b. oubGugasiT c. ®mBxphay Lyens
d. ®yrsr Hmegenies e. el Oxflwalevemsv

173.  Consider the following statements on Fundamental Duties:

1. Parliament cannot enforce it by a legislation

2. Itis applicable only to Indian citizens

3. All Fundamental duties are either moral or civil duties

4. Paying taxes is a fundamental duty.

Which of the above statements are true?

a.2,3 and 1 are correct b. 1,2, 3 and 4 are correct

c. 2 and 3 are correct d. 1, 3 and 4 are correct

e. Answer not known
SIQLILINL& HLMLOBM6N GIGHTLTUTET BB UTHBILIMISHENET H6U6NSHSH6LD

.  [BILTEHORIBLD FLULSHH6T (peOld ewdH SIDOLIBGHIS (PIQUITSH

2. Bz OhIHU GYWEHEHHECH CUTIHHHID

3. SmaisHd SlglitmL.  SLmHEHOL @updHds  GpBlemenGuim  OIVGI (Gl

SLHmeNCWIT HlglienL_WTs Ol TemIL 6n6l.
4. 9UssHE alflsmen CFISHIMNBID @H DlQLILIHL &L 6HLD
G FnprILL BeitemeummIeT elemeu Fifluimenteneu?

a.2,3 wppp 1 gfwrereney  b.1,2,3 wppid 4 gflwmerene
c.2 wpmid 3 Fflwimerene d.1,3 wspw 4 sfwmeene
e. allewL g flwailsenesv

174.  Which of the following fundamental rights was converted as legal right?

a. Right to Equality b. Right to Freedom

c. Right to Religion d. Right to Property

e. Answer not known

LeTeu(heusstouBmie 6hdh Sigliien. o flewo FU L o flewwowims ommprLl L g)?
a. Fwdzien o Menio b. azpdr 2 femw

C. 0% o fewo d. Qsrsaifleno

e. alowL G flwalsdensv

175. Identify the fundamental duty that was added in 2002 by the 86t Amendment Act.
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a. Respect National Flag

b. Defend our country

c. Develop Scientific Temper

d. To provide opportunities for education to children between the age of 6-14
years.

e. Answer not known

2002 60 86 b oPFlwed gnFer HHHHL FLLID cpeoons CaTdHslul L DugliLienL
SL MM HeWIL M.

a. Capdlw Ozmgemul LOFH5EH60

b. BOH BIL ML LITHIBTEHSH60

c. 9lalwed o ewiTened GLODLIBHSHSHIH6L

d. 6 w360 14 WG GLHMSHHEHEHHTR Heoal SHBEGID UTUINIL 6ULDHIGH6

e. alonL G flwalsdensv

176. Name the first backward classes commission established in the year 1953
a. Mandal Commission b. Kalelkar Commission
c. Harbajan Commission d. National Commission for backward

e. Answer not known
195360 Plpeuiule  WwHeo  UBuBHSUULL  auGLYSeT  SiememilsHHler Uy

GSMBILLIL )b
a. LDGWIL 60  &,6060IUILD b. &mBeuevaiT &y emewTUID
C. QBITLGT &ENEILILD d. VeisBdul aGliseEpssTar CHFUl SLenemTUILD

e. alenL OHflwealevenso

177.  Which of the following statements regarding Arignar Anna is / are correct?

a. He served as the sub editor of the “Justice” Magazine

b. He became editor for “Viduthalai”

c. He was associated with activities related to Tamil Weekly paper “Mudi

Arasu”
a. (a) only b. (a) and (b) c. (b) and (c)
d. (a), (b) and (c) e. Answer not known

OfehT Siewtewm UBPlw Flwmer gmBenp / dmBuismen GaiTey GFuiuleD
a. gt ‘B’ usbFHfsemauler siement pAflwigras LewflwmmBpd e

b. ‘@lBsmen’ usHHMbemauler dMuirmes LewiwmisenmT

C. (PQUWITS elaieIlD SLOD aumy @FHD OHTLTUTET Liewolderiled FFHLILLITT
a. (a) wL@w b. (a) wmmio (b) c. (b) wmmib (c)

d. (a), (b) wmmibd (c) d. elenL Gaflweaisdensv

178.  Which among the following statements is not an objective of “Cradle Baby Scheme”
To ensure adoption of family planning

To eradicate female infanticide

To increase child sex ratio

To increase the rate of girl child literacy

Answer not known
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LNeiteu(hlD FnBmIbHeriled ‘GHT 1960 GHWHMS HI L SHHer CHhTHHID SHIEVITHHI 6157
GBUS S_BUUTH (pedBenul 2 mig Fulaug)

OQuewt FFHoBTEmLMW QLOLILIGI

GWhmd LTellen aldlHHmed DiFHsTlug

OCuewt @LWHmGHHelen Sevalwplensy OIS S TG

alenL  OFflwealedenev

Tanow

179.

L. To transfer the substantive provisions under the Indian Penal Code

II. ~ Dowry givers should be excluded from punishment

III.  Appointment of Dowry Prohibition Officers

IV.  The marriage expenses should be limited to 20% of the annual income of
the girls” parents / guardian

Which of the above statements is/are true concerning the Dowry Prohibition

Act, 1961?

a. I only b. IT only c. Iand III only

d. All of the above d. Answer not known

L. BhHL HEILmaF FULSHH@ SP SaoiFora alHsmen OTHBHICIS

IL. ISl Fenent OBTHLILTHT HewiL enarulleVl(hbd allevdbasliuL Gelew(BLd

III. ez gmean oL SHsTismen HuIdsseo

IV. dmwems Ggeveyser  Quemiseier QupGurt / ursismeueder  SuewiB
aumTaIHHe0 20%H@Gen Shmba GauamiBLd

1961 auysl gement HOLFFLLID OFTLTUTRT CBHWIL.  Fn@Bpiseied 6%/ elenel

©_awienin?

a.l w @ b. II w @b c. I wmpnd I o Gib

d. Cumsemi. SmaisHsHId e. el s fuwalsienso

180. Name the Chief Minister of Tamil Nadu, during Anti-Hindi agitation in 1965?
a. Kamaraj b. Rajaji c. Bhaktavatsalam

d. Sathiyamoorthye. Answer not known
1965860 @pHg ety GummiL BLBS Gurdh SODBTL Q60 WTT  (LPSHEVMDFFTTH

Bwbei?
a. SIoyTeyT b. @yregred C. USFHEUFF6ULD
d. ssHwepTsd) e. alewL Oz fwalevemev

181. Consider the following statements:
I The Constitution of India establishes a Parliamentary form of Government.
I Prime Minister is the Head of the Government
III President is the Head of the Government
IV Real executive power rests with the President of India
Choose the correct answer from the following:
a. I and II only true b. III only correct
c. Il and IV only correct d. IV only correct

e. Answer not known
BIPHEWIL. FnBenB  H(HHALD
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. @bgsu sdwevemoliyF FULID UTITEHONIB HIFFTRIS (LPeOBenL HnielueTerng
II. Jdyswt SPsmmssHer HmeveUT SLeUT

III. @ywrs SHmevauT DIFFTRISSHE HEMELEUT SLEUMT

IV. guwurs semevelT 2 emienowimer QFweor & DIHSTID OQSTeT e

gflwmer allenLenwl SHewiLpsiss.

a.l wppd I w @G & b.III w' @ &M
c. II wppd IV w' @b & d.IV o @Gw &M
e. alowL G flwalsdensv
182. By What name or names is our country mentioned in the Indian Constitution?
a. Indian and Hindustan b. India and Bharat
c. Bharat d. India, Bharat, Hindustan

e. Answer not known

O odlweventolitled GMILLIL LUl Beiten @bgHlwraler GuuwiT wrg?
a. bW BBID BHSHIeTOST6H

b. @pHwm wBBIDd UTFSID

C. UMI&LD

d. @bFHwir, uTyHD, BbHHIETOSHT6s

e. alonL G flwalsdensv

183. Match the following

A. Article 39(b) 1. Protection of Ecology, Environment from Pollution
B. Article 48(A) 2. Equal pay for Equal work

C. Article 39(d) 3. Free legal aid to the poor

D. Article 39(A) 4. Abolished hereditary property

N—"

A B @ D
a. 1 2 3 4
b. 4 1 2 3
C. 4 3 2 1
d. 4 1 3 2

e. Answer not known

SLPHWILaUBeNB  CLIT(HSHSHIS:

A s 2wy (39 (b) 1. &Gwelwesd BBID SOBIF GO OIS eI [HbHSI
UIT&ISBITLIL

B. #iL o miiy 48(A) 2. g Goumevd@ Fo aHuwibd

C. st o2 gy 39(d) 3. gewp eefl WEHEHEHEG Beveus FL 2 Hai

D. siL o piiy 39(A) 4. ugbuey QFTSHHIL MWD D HH6e0

A B C D
a. 1 2 3 4
b. 4 1 2 3
C. 4 3 2 1
d 4 1 3 2
e. allewL G flwalstensv
184. Match the following
Preamble as Said by
A. Political Horoscope 1. Sir Ivor Jennings
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B. Keynote to the Constitution 2. Thakurdas Bhargav

C. Soul of the Constitution 3. B.R. Ambedkar
D. Paradise of Lawyers 4. K.M. Munish
5. Earnest Barker

A B C D
a 1 2 3 4
b 2 1 4 5
c 4 5 2 1
d 1 4 3 2
e. Answer not known
CUT(HSHSHIH:

W& Tuler USHLD FpslwieuiT
A. opflwed MTHED 1. o1 e OMeein
B. epdweoenliier srai 2. HTSGTHT0 LITH6M
C. apdlwevenioliien yesrom 3. U.oT. oubBusst
D. aupsanleprTseier GamTaasd 4. @sp.e1b. (1pevtd]

5. 6ITeIeNL. LIMTE&IT
A B C D
a 4
b. 2 1 4 5
C. 4 5 2 1
d. 1 4 3 2
e. alonL G flwealsdensv

Consider the following Assertion and Reason

Assertion (A) : Bringing down the influence of the rich and powerful
people in making Governmental decision making is the
challenge in the concept of expansion of democracy.

Reason (R) : People's participation and their control in meaningful, only
when influence of the rich is brought down. It results in
"Deepening of Democracy".

a. (A) is wrong buy (R) is correct

b. Both (A) and (R) are correct

c. (R) is wrong but (A) is correct

d. Both (A) and (R) are incorrect

e. Answer not known

SpeUmD BHSHSH OBHDID STJEOID SUIIBOB BHeuU6TSHa|LD.

a®d3H (A) :  opsmhs  WPROaBHH00,  LeNISSTITHET  BBID  DIFHSTILD

UL &S WHHeTeT CFe0aTHme GHMMBLILIGI 6T6ILISI  SQ6TBTUIS
alfleuTdsd” 6D HHGHH T FoUTD LELD.

smyenid (R): e URIG&®BLIL LoBmILD S|ITH 61T 601 &L (Brium( 6TGTLIG]
L1600 &b &MY T b 61T 60T OF60aUTHG GMBSBLILIHLOCUTG MCIEMN)
CUT(HEHEML UISHTSH LOTMILD. 8 516e MDBTULISHMS

SLPULBSHSBID  [BL6UIQENESBUILDTGLD.
a. (A) seum semmed (R) wl @G &l
b. (A) w G (R) @yemiGw &l
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c. (A) saum spemmed (R) &
d. (A) wBpd (R) @yewiGw &M oie060
e. allewL G flwailstenev

186. A Chief Minister supported by Thanthai Periyar challenged that “Show me a person
who died because a lower caste doctor wrongly injected or show me a building that
collapsed because it was built by a low caste engineer”. It was

a. Omandur Ramasamy b. Kamarajar

c. Arignar Anna d. Kalaignar M. Karunanidhi

e. Answer not known

g,rj,m)g, Quflwmfles SUBTAILGT (PHeVMWFFT QHoUT GeleuTm Foumed aIBHSHTT

“Mbbhep FTH IOBSSIOT  SHaupTe oard] GumL&Tev Bpps 9 LDGUﬂg,GmU 6T6aT6uTIL_LD
STemSbSD DIGV6VH FHTPHS T8 GumPslwmenymed SHHTHeH Gumer T SLgL Hn

oTavteuTL LD SBmewiLildbaab.” Seuaurml nmluieuT wim?

a. QHEHTT Symogmid b. @mogmregit

C. OINYEHT SlewTemIT d. smeuEhT. (1p. HHMIMHH
e. alonL G flwalsdensv

187.  Which of the following incidents led Thanthai Periyar to agitate for Communal

reservation:
a. Representation for the backward classes was very little in Government
jobs

The Central Government resolved to invalidate the communal reservation
c. The State Government resolved to invalidate communal reservation
d. The High Court and the Supreme court declared as invalid the
Communal reservation for professional courses
e. Answer not known
SPHTEDID 6Mh FlOLUMIGET FHhHend uflwmmeny au@lLauTs B HHsH CHeme
e lenT&denwt Crpress o bhIluigl.
g Gauemevseed Llaismsiw augliysellear Wad Gemmeutear LIFHH S oHaieun
uGLIyeurilwmer S LILmSH 0F6de0TgHl 6l WHHUW s SuBPiul SHTLOTeoTLD
uGLIyeurfwmer S LILmSH 0gede0mgl 616 LOTHeD s SuiBpiw STLoTed
CaTOmaTH Hevailuilev U@ LILjeurtrfluiment B Numish OFe060TH) 61601
2 WTHHIORIBIPLD 2 FFHHIEIBIPLD DiBlaldhsHS
e. alenL  OFflwealedensv

Ao op

188.  Why Chennai is called as 'Detroit of Asia"?
a. Due to the presence of Textile Industry
b. Due to the presence of Automobile Industry
c. Due to the presence of Leather industry
d. Due to the presence of Film Industry
e. Answer not known
“opFwmallest QLLgmuIl” eleiml OFeiTenen 66 SIMPSHBLILBHBSI?
a. maefld CFHTPHed EHLILIHET60
b. Guor LT anmseidh QFHTHe0 EHUILISETTEO
c. Gxmev GEHTH BHLLISHETTED
d. SyiuLs Oamhed B HLILISHEITED
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e. alonL G flwalsdensv

189. "Post - Tsunami sustainable livelihood programme for the coastal communities of
Tamil Nadu" is assisted by
a. World Bank
b. International Fund for Agricultural Development
c. Asian Development Bank
d. International Monetary Fund
e. Answer not known
SODBTL 960 o 6o &L Geumy WdHHEHSEHTT FAMOSEG Ll [Hlenevhsd eUTLDUTHT]
HLLHIBS 2 FasBs.
a. 2 60% GUEIG)
b. aleugmw Guibum yBsrear FrauGsHF M wib
C. o Flw euenFd eumig
d. sTeuBmsg mrewiL HHwid
e. allenL G flwailsvenev

190. Which District is occupying the last rank in Human Development Index in Tamil

Nadu?
a. Villupuram b. Theni c. Perambalur
d. Ariyalur e. Answer not known
SOIDBTL 19T 6%  WTUL LD  weldh  Guobur’ (G oI Leueeorulsd Sl FulL b
U BB TSI ?
a. allgguiyyib b. Gxef c. GuybugymT
d. efweyr d. alew Gxflwelsdemev

191.  Choose the correct statements related to “Black money”

a. These are assets not reported to the Government at the time of generation

b. Estimate of black money in India for the year 1983-84 is 95% of GDP

c. “Tax havens” are typically big countries which impose high tax on foreigners
who decide to settle down

a. (a) only b. (b) only c. (a) and (b) only

d. (b) and (c) only e. Answer not known

&L Uewild QBTLTUTeT SphsTamid dgmppled / smppiseiey Fflumareupens GCsie

QFulwe b?
a. @by eumswrear GEBUL 2 Lawsala 2 BusHdH uBsl  SIIsHisE HHUM
(OENCE L INNCHIE WY

b. 1983 — 84 oub Suewlged, &@HUL UTHHST AT Tz, GCrds o 6pT (B
o _pugduied (GDP) 95% susid.

c. auflgrBm ysedLD” eeumer GuUTgeuTE Quflw BTIhHEMTE E(HHGWD. Gosvid
o7y BIhSeT, GOwm eeauiamid GeuelpTl LeauTsel Weh iHs euflFsHemwemnu
& 6wl (@ LD.

a. (a) (B b. (b) wl G c. (a) wppid (b) w @B

d. (b) wmmid (c) w G e. alewL Gsfwalsvens
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192. Statement 1: A major issue highlighted by census 2011 is that there
are around 50 lakh less children in age group 0-6 years in census
2011 than census 2001
Statement 2: Population growth rate between 2001 and 2011 is lower than the
Population growth rate between 1991 and 2001
S1 and S2 are correct but S2 does not explain S1
S1is wrong; S2 is correct
Both S1 and S2 are wrong
Both S1 and S2 are correct and S2 explains the S1

. Answer not known

&Bpl 1: 0-6 auwgl GHWhHmSHHeen erewienibend 2001 LOSHHTOSHTND
sentb0BBLmL QUUIBLEUTEH 2011 10EH6T OHTend HThBBLILNED ST
50 L&D QU] (HMMWbHHIGTENH. BbPH 2 wienlD (IPHHUl LNTEFFMETULITS
2011 woaH6T FHTmE HeTHOBGBUILIEO &L 19HBTL L LILL (BeiTend)

&amml 2: 2001 wBmId 20110 YeETGHEHEHESG DL UlevTer WEHHATOHTND UeTTES
aigb 1991 wmmId 2001 HLETBHEHHEH WL UTGOTET LDSHTOHTMS
UeNTEFS aIHHBIL 6T QUILIGHBUND (GDBUTETSH DLGLD.

&Bm 1 By 2 Ff, siemmed Byl 2, &Myl 1-HHTar alendsld HIEL6V

&MY 1 Houml, Fmmp 2 g

gaBpl 1 BEID FBY 2 Srevho Heup

F&Bp 1 BB gpp 2 GreviGl Ff, app 2, FWBp 1-darer gflwrer alendsld

alemL  OFHflwaledensv

°ap o

o an o

193.  Child Development Index takes into account of the following factors

I. Education II. Income 1. Health IV. Nutritional status

Select the appropriate combination

a.l, Il and III b.I, III and IV c. [ IITand IV

d. IL, Il and IV e. Answer not known

GWhemd Gubum’ Bs GBUWIG Uaeumb styalsamend Henrdbdle0 61HHHIHOBTATS MBS
I. seval IT. sugpomendIII. sasmrsmyd IV. oo’ L §553 BHeneo
gflwmenr CaTdbensemwl GxiTey OFuIWIe D

a. L IT wmpp 1T b. I, I wppw IV c. L 1T wpmi IV

d. I, IIT wpmid IVe. alewr Oaxfluwialsdenso

194.  With regard to the review related to the Tamil Film and master piece ‘Pariyeum
Perumal’, Choose the correct statement(s)
(@) Shows the ill effects of caste system
(b) It won the Film Fare Award under the ‘Best Film’ category.
(c) It was a movie directed by Thiru Mari Selvaraj and produced by Neelam

productions.
a. (a) only b. (a) and (b) only c. (a), (b) and (c)
d. (c) only e. Answer not known

gsomeodphd  uemLlumer  “UfiCwmid  GQugpomeT”  elei3 SO  HewyuLd  uBpSiw
alDTFeNd GNiSH SpETeamId FnBmIHefed/mmpiled gflwmeaaBens CxiTe| GFwILIAD.
(@) BSuuLb stFw sl Leowlitear Gamgw almenasmen &igsbsTl BB

(b) @b ‘Wessdphs uLw’ e eauflmsulsd NedwGUT alhe OUBBSI
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(c) ®uurd Hwm. wrfl CFevdeugTeyTed BUISSILLB, BHeod Sy GUOSHDHTeO

QeuerfuiL L Lgl.
a.(a) wL (B b. (a) wmmb (b) i Hid
c. (a), (b) wmmid (C) d. (©) w’ @Ew

e. allewL G fluailstenev

195. According to All India Survey for Higher Education 2019, Which State produced the
maximum number of Ph.Ds. in the country in 2018?

a. Tamil Nadu b. Kerala c. Maharastra

d. Gujarat e. Answer not known

SMRSHSH DhHHW 2 wiT Hevaldbarar Heumsbos®Bly 2019 uller L 6bhg TbHeod 2018
ufev DFBULF 6760616001 & 61 & U1 60T 60T L1.61&.19 &HEM6I ((LPe»ETBUTHEMEIT)
® _(THeUTSHEU|6iT6Ng]?

a. SOPHTH b. Gasyent C. LOSMITAOJQTT

d. &xyrs e. alenL G fwaisvenev

196. A hemispherical tank of radius 1.75 m is full of water. It is connected with a pipe
which empties the tank at the rate of 7 liters per second. How much time will it
take to empty the tank completely?

a. 27 minutes b. 26 minutes c. 72 minutes

d. 62 minutes e. Answer not known

o 175 18 2 6en  @f  oemismen  eugeud OFHTlg  (PpBBIeID  BITED
Brouliuc (Getendl. @F @GWwTuler cpeod ailbmed@ 7 ILLT aipd ST iuiledmhal B
CeueTGuBpLiLbGLoTemed,  OHTligenul  elelauene]  GBIHHeL  (PUPUBHIOTS  HT6U

g uiweomd?
a. 27 Pl riselt b. 26 Pl misei C. 72 mblLmisbeit
d. 62 oL miselt e. alenL  QFHflwalsvensv

197. Find the LCM of (x* - 1), (x2-2x + 1)
a.(x2+1))x+1) b.(x+1) (x-1)
c.(x2+1) (x-1)2 d (x2+1) (x+1) (x-1)2
e. Answer not known
15.QUIT.LD  SHTEwT.

a.(x2+1))x+1) b.(x+1) (x-1) c.(x2+1) (x-1)2
d.(x2+1) (x +1) (x-1)2 e. alowL OFflwaievenev

198.  Find H.C.F. of (x2y + xy?2), (x2 + xy)

axty b. xy cx(x+y) d.x2+y?2 e. Answer not known
(x2y + xy2), (x2 + xy) spPweuBpiiesr L5.QLIT.6U. HTENIS.
a.x+ty b. xy c.x(x+y) d.x2+y?2 e alewL Qzxfwelsdemev

. 1 3 .8
199.  Simplify: 5§+Z of§
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b. 6% C. 6% d. 6% e. Answer not known
8
9
1 8 4 .
b. 6= C. 6— d. 6— e. allenL Qg flwalsdenev
6 9 8
Simplify: i+§—E—§—£x_—27
3 3 12 9 16
b. 43 C. 33 d. 3 e. Answer not known
12 12 12
4 3 5 30 12 -27
& —f——— = -
3 2 3 12 9 16
b, 43 c. 33 4B e. alenL  QFHflwalsvensv
12 12 12
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